

Rockland Electric Company 4 Irving Place New York NY 10003-0987 www.oru.com

November 1, 2024

Honorable Sherri L. Golden Secretary of the Board State of New Jersey Board of Public Utilities 44 South Clinton Avenue, 1st Floor PO Box 350 Trenton, New Jersey 08625-0350

> Re: Rockland Electric Company Rate Case Compliance Tariff Filing -Removal of Expiring Amortization Costs BPU Docket Nos. ER21050823, ER21030675, and ER21091143

Dear Secretary Golden:

Rockland Electric Company (the "Company") hereby submits for filing with the Board of Public Utilities (the "Board") the following tariff leaves proposing revisions to its Schedule for Electric Service, B.P.U. No. 3 – ELECTRICITY.

3rd	Revised Leaf No.	65B	15th	Revised Leaf No.	103
17th	Revised Leaf No.	82	17th	Revised Leaf No.	114
15th	Revised Leaf No.	88	17th	Revised Leaf No.	115
17th	Revised Leaf No.	93	12th	Revised Leaf No.	116
15th	Revised Leaf No.	95	9th	Revised Leaf No.	119
16th	Revised Leaf No.	101	15th	Revised Leaf No.	123
20th	Revised Leaf No.	102	60th	Revised Leaf No.	127

These tariff leaves are issued on November 1, 2024 to become effective on January 1, 2025.

These leaves are issued in compliance with the Board's December 15, 2021 *Decision and Order Adopting Initial Decision and Stipulation of Settlement* in BPU Docket Nos. ER21050823, ER21030675, and ER21091143 (the "Order"). The purpose of this filing is to remove from base rates various expiring amortization costs resulting from the Board's determination in the above-referenced proceeding, as set forth in the Order.

In accordance with the Order, electric distribution rates have been designed to produce an annual reduction of \$7,226,194 commencing January 1, 2025, which was accomplished through a uniform percentage decrease to the base distribution charges, excluding customer charges, of all service classifications. The Company attaches the following Schedules in support of the rates shown in the revised leaves.

Schedule 1	Rate Design and Proof of Revenues
Schedule 2	Typical Bill Impacts
Schedule 3	Rates Grossed Up for Sales and Use Tax
Schedule 4	Rates in Brief

The Company is also filing the associated changes to the Conservation Incentive Program ("CIP") Adjustment targets contained in General Information Section No. 40 due to the change in base rates resulting from the expiration of the amortization costs.

Please note that the Company is making this filing solely in electronic form pursuant to the Board's directive in its Emergency Order dated March 19, 2020 in BPU Docket No. EO20030254.

Questions regarding this filing can be directed Cheryl Ruggiero at (212) 460-3189.

Sincerely,

/s/ William A. Atzl, Jr.

Director – Rate Engineering

TARIFF LEAVES

GENERAL INFORMATION

No. 40 CONSERVATION INCENTIVE PROGRAM ("CIP") ADJUSTMENT (Continued)

Monthly customer group specific RPC targets are calculated by dividing the number of customers for each month into the monthly distribution revenue approved in the Company's most recent base rate filing. On a monthly basis, the allowed revenue shall be calculated by multiplying the customer group specific RPC target by the actual number of customers for that month in the customer group.

Month	Group A	Group B	Group C
Jul	87.08	268.30	3,409.52
Aug	89.92	272.47	3,026.03
Sep	74.00	262.69	3,274.97
Oct	50.89	219.95	2,561.40
Nov	43.52	201.97	2,517.15
Dec	51.60	215.17	2,597.87
Jan	55.00	243.96	2,488.42
Feb	49.98	212.07	2,387.38
Mar	45.11	182.52	2,481.90
Apr	42.81	211.37	2,113.73
May	44.27	205.68	2,448.05
Jun	65.39	250.19	2,973.35

RPC Targets (\$/customer) – Effective January 1, 2025

The Company will determine the maximum amount of revenue the Company may collect in a program year through the CIP Adjustment charges. For the first annual deferral period (July 1, 2021 through June 30, 2022), the maximum amount of revenue will be determined by taking 4.0% of the customer charge revenue, distribution usage revenue, and distribution demand revenue of customer groups A – C. In subsequent years, the maximum amount of revenue, and distribution demand revenue of customer groups A – C. If the amount to be collected (*i.e.*, the difference between actual revenue and allowed revenue) is larger than baseline amount established by the savings test, the difference between the total amount to be collected and the baseline will be deferred for collection in the following year.

ISSUED:	November 1, 2024	EFFECTIVE: January 1, 2025
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430	Filed pursuant to Order of the Board of Public Utilities, State of New Jersey, dated December 15, 2021 in Docket No. ER21050823.

SERVICE CLASSIFICATION NO. 1 RESIDENTIAL SERVICE

APPLICABLE TO USE OF SERVICE FOR

Sales and delivery of electric power supply provided by the Company or delivery of electric power supply provided by an electric generation supplier under the Company's Retail Access Program to residential customers. All service at each residence shall be taken through one meter. Service will also be furnished hereunder to a church and adjacent buildings (other than school buildings which substitute for public education), owned by the church and operated in connection therewith; provided, however, that if the buildings of any such church group are separated by a highway or highways, then the electricity delivered to each group so separated shall not be combined with the electricity delivered to other buildings of the church group but shall be billed separately under this rate.

CHARACTER OF SERVICE

Continuous, 60 cycle, A.C., from any of the following systems as designated by the Company:

- (1) Single phase at approximately 120,120/208 or 120/240 volts.
- (2) Three phase four wire at approximately 120/208 volts in limited areas.

RATE – MONTHLY

		<u>Summe</u>	r Months*	Other Months
(1)	Customer Charge	\$5	.75	\$5.75
(2)	Distribution Charge			
	(a) Distribution Charge Applica	able to no	on-Time-of-Day Ser	vice
	First 600 kWh Over 600 kWh	@ @	5.497 ¢ per kWh 6.921 ¢ per kWh	
	(b) Distribution Charge Applic	licable to Voluntary Time-of-[ay Service
	<u>Peak</u> All kWh measured betweer 12:00 p.m. and 8:00 p.m., Monday Through Friday		12.724 ¢ per kWh	9.787 ¢ per kWh
	<u>Off Peak</u> All other kWh	. @	3.841 ¢ per kWl	h 3.841 ¢ per kWh
* Definition of Summer Billing Months - June through September				

* Definition of Summer Billing Months - June through September

(Continued)

ISSUED: November 1, 2024

24

EFFECTIVE: January 1, 2025

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430

SERVICE CLASSIFICATION NO. 2 GENERAL SERVICE (Continued)

RATE – MONTHLY (Continued)

Summer Months* Other Months

- **Distribution Charges** (2)
 - (a) Secondary Service (Non-Demand Billed)

	<u>Usage Charge</u> All kWh	@	4.117 ¢ per kWh	3.731 ¢ per kWh
(b)	Secondary Servic	e (Demand Billed)	
	<u>Demand Charge</u> First 5 kW Over 5 kW	@ @	\$5.40 per kW \$7.39 per kW	\$4.49 per kW \$6.21 per kW
	<u>Usage Charge</u> First 4,920 kWh Over 4,920 kWh	•	2.851 ¢ per kWh 2.569 ¢ per kWh	· •
(c)	Primary Service			
	Demand Charge			
	All kW	@	\$9.26 per kW	\$7.91 per kW
	<u>Usage Charge</u> All kWh	@	1.354 ¢ per kWh	1.354 ¢ per kWh

* Definition of Summer Billing Months - June through September

(Continued)

	NI I I 0004		4 0005
ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President	Filed pursuant to Ore	ler of the Board of Public
	Mahwah, New Jersey 07430	Utilities, State of New Jersey, dated December 15,	
	Mariwall, New bersey of 400	2021 in Docket No. E	ER21050823

SERVICE CLASSIFICATION NO. 2 GENERAL SERVICE (Continued)

SPECIAL PROVISIONS

(A) Short Term Secondary Service

When short term service is requested, the Company reserves the right to require a deposit of the estimated bill for the period service is desired. The minimum charge for such short term service shall be an amount equal to six times the minimum monthly charge, payable in advance. When construction is necessary, the cost of installation and removal of all equipment, less salvage value, shall be borne by the customer, and a sufficient amount to cover these charges shall be paid in advance. A part of a month shall be considered a full month for computing all charges hereunder.

(B) Space Heating

Customers who take service under this classification for 10 kW or more of permanently installed space heating equipment may elect to have the electricity for this service billed separately. All monthly use shall be billed at a Distribution Charge of 3.365/kWh during the billing months of October through May and 5.605/kWh during the summer billing months. When this option is requested it shall apply for at least 12 months and shall be subject to a minimum charge of \$26.87 per year per kW of space heating capacity. This provision applies for both heating and cooling where the two services are combined by the manufacturer in a single self-contained unit.

All usage under this Special Provision shall also be subject to Parts (3), (4), and (6) of RATE – MONTHLY.

This special provision is closed to new customers effective August 1, 2014.

(Continued)

ISSUED: November 1, 2024

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE: January 1, 2025

SERVICE CLASSIFICATION NO. 3 RESIDENTIAL TIME-OF-DAY HEATING SERVICE

APPLICABLE TO USE OF SERVICE FOR

Sales and delivery of electric power supply provided by the Company or delivery of electric power supply provided by an electric generation supplier under the Company's Retail Access Program to residential customers where an approved electric storage heater is used for customer's entire water heating requirements and/or permanently installed electric space heating equipment is the sole source of space heating, excluding fire places, on the premises. Solar energy collection devices may be used to supplement customer's water and/or space heating requirements.

CHARACTER OF SERVICE

Continuous, 60 cycle, A.C., from any of the following systems as designated by the Company:

- (1) Single phase at approximately 120,120/208 or 120/240 volts.
- (2) Three phase four wire at approximately 120/208 volts in limited areas.

RATE – MONTHLY

		Summer Months*	Other Months
(1)	Customer Charge	\$9.00	\$9.00
(2)	Distribution Charge		
	<u>Peak</u> All kWh measured between 10:00 a.m. and 10:00 p.m., Monday through Friday@	7.449 ¢ per kWh	6.682 ¢ per kWh
	<u>Off-Peak</u> All other kWh@	2.684 ¢ per kWh	2.684 ¢ per kWh

* Definition of Summer Billing Months - June through September

(Continued)

ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430		er of the Board of Public Jersey, dated December 15, R21050823.

RATE – MONTHLY

- (1) **Distribution and Transmission Charges**
 - (a) **Distribution Luminaire Charges**

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>	
Street Light	ting Luminaires				
5,800	Sodium Vapor	70	108	\$9.22	
9,500	Sodium Vapor	100	142	10.01	
16,000	Sodium Vapor	150	199	12.18	
27,500	Sodium Vapor	250	311	15.56	
46,000	Sodium Vapor	400	488	25.23	
3,000	LED	15-29	23	8.48	
3,900	LED	30-39	35	8.31	
5,000	LED	40-59	50	8.33	
7,250	LED	60-89	68	8.69	
12,000	LED	90-129	103	9.77	
16,000	LED	130-169	140	10.24	
22,000	LED	170-220	200	15.00	
Flood Light	Flood Lighting Luminaires				
15,500	LED	100-159	125	\$11.80	
27,000	LED	160-249	205	15.04	
37,500	LED	250-320	290	16.40	
The following luminaires will no longer be installed. Charges are for existing luminaires only.					

Street Lighting Luminaires

1,000	Open Bottom Incandescent	92	92	\$6.11
4,000	Mercury Vapor	100	127	8.27
7,900	Mercury Vapor	175	211	9.75
12,000	Mercury Vapor	250	296	12.67
22,500	Mercury Vapor	400	459	16.08
40,000	Mercury Vapor	700	786	24.46
59,000	Mercury Vapor	1,000	1,105	30.90

(Continued)

ISSUED:

November 1, 2024

EFFECTIVE:

January 1, 2025

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430

RATE – MONTHLY (Continued)

- (1) <u>Distribution and Transmission Charges</u> (Continued)
 - (a) <u>Distribution Luminaire Charges</u> (Continued)

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>	
Street Lig	hting Luminaires (Con	<u>tinued)</u>			
3,400	Induction	40	45	\$9.65	
5,950	Induction	70	75	9.83	
8,500	Induction	100	110	11.11	
5,890	LED	70	74	10.57	
9,365	LED	100	101	12.98	
Post-Top Luminaires					
4,000	Mercury Vapor	100	130	\$12.58	
7,900	Mercury Vapor	175	215	15.41	
7,900	Merc. Vapor-Offset	175	215	18.09	
16,000	Sodium Vapor-Offset	150	199	24.62	

(b) <u>Transmission Charges</u>

A Transmission Charge of 1.455 ¢ per kWh will apply to all customers taking Basic Generation Service from the Company. Transmission charges are also applicable to customers located in the Company's Central and Western Divisions and obtaining Competitive Energy Supply. Transmission charges are not applicable to customers located in the Company's Eastern Division and obtaining Competitive Energy Supply. The Company's Eastern, Central and Western Divisions are defined in General Information Section No. 1. A Transmission Surcharge, to recover Reliability Must Run Charges, of 0.000 ¢ per kWh will also apply to all customers taking Basic Generation Service from the Company.

Transmission Charges shall be applied to the kWh estimate in the following manner:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

*See Monthly Burn Hours Table

(Continued)

ISSUED: November 1, 2024

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE:

January 1, 2025

RATE – MONTHLY (Continued)

- (2) Additional Charge
 - (a) An additional \$21.06 per luminaire per month will be charged for existing Underground Service where the Company owns and maintains the entire facilities.
 - (b) An additional \$5.12 per luminaire per month will be charged for existing underground service where the customer has installed, owns and maintains the duct system complete, but not the aluminum standard or luminaire.
 - (c) An additional \$0.58 per bracket per month will be charged for a fifteen foot bracket when installed.
- (3) <u>Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act</u> <u>Credit, and Zero Emission Certificate Recovery Charge.</u>

The provisions of the Company's Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act Credit, and Zero Emission Certificate Recovery Charge as described in General Information Section Nos. 33, 34, 36, and 37 respectively shall be assessed on all kWh delivered hereunder.

The charges shall be applied to the kWh estimate in the following manner:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

* See Monthly Burn Hours Table.

(Continued)

ISSUED:	November 1, 2024
---------	------------------

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE: January 1, 2025

RATE – MONTHLY

(1) <u>Distribution and Transmission Charges</u>

(a) Luminaire Charges for Service Types A and B

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>	
Power Bra	acket Luminaires				
5,800 9,500 16,000 3,950 5,550 7,350	Sodium Vapor Sodium Vapor Sodium Vapor LED LED LED	70 100 150 25-39 45-55 56-70	108 142 199 35 50 65	\$6.69 8.04 8.63 7.82 7.93 8.01	
Street Lig	hting Luminaires				
5,800 9,500 16,000 27,500 46,000 3,000 3,900 5,000 7,250 12,000 16,000 22,000	Sodium Vapor Sodium Vapor Sodium Vapor Sodium Vapor LED LED LED LED LED LED LED	70 100 150 250 400 15-29 30-39 40-59 60-89 90-129 130-169 170-220	108 142 199 311 488 23 35 50 68 103 140 200	\$9.31 10.21 12.55 16.09 26.56 8.48 8.31 8.33 8.69 9.77 10.24 15.00	
Flood lighting Luminaires					
46,000 15,500 27,000 37,500	Sodium Vapor LED LED LED	400 100-159 160-249 250-320	488 125 205 290	\$26.56 11.80 15.04 16.40	

(Continued)

ISSUED:

November 1, 2024

EFFECTIVE: J

January 1, 2025

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430

RATE – MONTHLY (Continued)

- (1) <u>Distribution and Transmission Charges</u> (Continued)
 - (a) <u>Luminaire Charges for Service Types A and B</u> (Continued)

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>	
The follov luminaires		o longer	be installed.	Charges are for existi	ng
Power Bra	acket Luminaires				
4,000 7,900 22,500	Mercury Vapor Mercury Vapor Mercury Vapor	100 175 400	127 215 462	\$10.37 12.00 19.14	
Post Top	Luminaires				
16,000 \$	Sodium Vapor-Offset	150	199	\$24.69	
Street Lig	hting Luminaires				
4,000 7,900 22,500 1,000 3,400 5,950 8,500 5,890 9,365 <u>Flood ligh</u>	Mercury Vapor Mercury Vapor Mercury Vapor Incandescent Induction Induction LED LED	100 175 400 - 40 70 100 70 100	127 211 459 92 45 75 110 74 101	\$11.41 13.04 20.27 9.28 10.00 10.23 11.53 10.96 13.49	
12,000 40,000	Mercury Vapor Mercury Vapor	250 700	296 786	\$16.40 29.70	
40,000 59,000	Mercury Vapor	1,000	1,105	36.98	

		(Continued)	
ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430		er of the Board of Public Jersey, dated December 15, R21050823.

RATE – MONTHLY (Continued)

- (1) <u>Distribution and Transmission Charges</u> (Continued)
 - (b) <u>Distribution Charges for Service Type C</u>

Metered Service -	Customer Charge at \$16.00 per month plus Distribution Charge at 5.812 ϕ per kWh; or
Unmetered Service -	Customer Charge at \$4.00 per month plus Distribution Charge at 5.812 ϕ per kWh.

(c) <u>Transmission Charges for Service Types A, B, and C</u>

A Transmission Charge of 1.455 ¢ per kWh will apply to all customers taking Basic Generation Service from the Company. Transmission charges are also applicable to customers located in the Company's Central and Western Divisions and obtaining Competitive Energy Supply. Transmission charges are not applicable to customers located in the Company's Eastern Division and obtaining Competitive Energy Supply. The Company's Eastern, Central and Western Divisions are defined in General Information Section No. 1. A Transmission Surcharge, to recover Reliability Must Run Charges, of 0.000 ¢ per kWh will also apply to all customers taking Basic Generation Service from the Company.

For service type A, B, or C if not metered, the charges shall be applied to the kWh estimated as follows:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

(2) <u>Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act</u> <u>Credit, and Zero Emission Certificate Recovery Charge.</u>

The provisions of the Company's Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act Credit, and Zero Emission Certificate Recovery Charge as described in General Information Section Nos. 33, 34, 36, and 37 respectively shall be assessed on all kWh delivered hereunder. For service type A, B, or C if not metered, the charges shall be applied to the kWh estimated as follows:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

* See Monthly Burn Hours Table.

(Continued)

ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President	Filed pursuant to Orde	r of the Board of Public

SY: Michele O'Connell, President Mahwah, New Jersey 07430

SPECIAL PROVISIONS

Special Provisions A, B, D, E, F, and J apply only to Service Types A and B. Special Provision K applies only to Service Type C. Special Provisions C, G, H, and I apply to Service Types A, B, and C.

- (A) Street lighting luminaires will normally be mounted on eight foot aluminum brackets. Fifteen foot brackets are available at an additional charge of \$0.65 per bracket per month.
- (B) Luminaires will be installed free of charge where all facilities necessary to serve a luminaire are present. Customer shall pay the cost of any additional facilities required, prior to the commencement of the construction of such facilities.
- (C) The customer shall furnish the Company with all easements or rights-of-way necessary to provide service to the desired location before any installation or construction will be started.
- (D) A customer may apply for service hereunder for a proposed residential subdivision in which all electric facilities will be underground. Such application shall be signed by the customer and builder or developer and when accepted by the Company, shall constitute an agreement between the Company, customer and builder or developer subject to the terms and provisions hereunder.

The builder or developer shall pay to the Company prior to the commencement of any construction all costs associated with the installation of the facilities to be serviced hereunder and shall prepay six times the total monthly charge for all luminaires installed. Said monthly charges shall be determined using the rates in effect at the time said costs and charges are determined. The Company shall not bill the customer for the first six months of service of the facilities installed under this special provision.

(E) The Company shall not be obligated to repair or replace in kind any obsolete luminaire for which it cannot reasonably obtain the necessary parts. The Company will remove the obsolete luminaire or at the customer's request, replace it with any luminaire offered for service at that time for which the customer will be charged the appropriate rates.

(Continued)

SERVICE CLASSIFICATION NO. 7 LARGE GENERAL TIME-OF-DAY SERVICE (Continued)

RATE – MONTHLY (Continued)

(2) <u>Distribution Charges</u>

		<u>Primary</u>	High Voltage <u>Distribution</u>
Demand Charge			
Period I	All kW @	\$5.03 per kW	\$1.33 per kW
Period II	All kW @	1.24 per kW	0.31 per kW
Period III	All kW @	4.62 per kW	1.22 per kW
Period IV	All kW @	1.24 per kW	0.31 per kW
Usage Charge			
Period I	All kWh @	1.616 ¢ per kWh	0.183 ¢ per kWh
Period II	All kWh @	1.210 ¢ per kWh	0.138 ¢ per kWh
Period III	All kWh @	1.616 ¢ per kWh	0.183 ¢ per kWh
Period IV	All kWh @	1.210 ¢ per kWh	0.138 ¢ per kWh

(3) <u>Transmission Charges</u>

(a) These charges apply to all customers taking Basic Generation Service from the Company. These charges are also applicable to customers located in the Company's Central and Western Divisions and obtaining Competitive Energy Supply. These charges are not applicable to customers located in the Company's Eastern Division and obtaining Competitive Energy Supply. The Company's Eastern, Central and Western Divisions are defined in General Information Section No. 1.

(Continued)

ISSUED:	November 1,	2024
---------	-------------	------

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE: January 1, 2025

SERVICE CLASSIFICATION NO. 7 LARGE GENERAL TIME-OF-DAY SERVICE (Continued)

SPECIAL PROVISIONS

(A) Space Heating

Customers who take service under this classification for 10 kW or more of permanently installed space heating equipment may elect to have the electricity for this service billed separately. All monthly use shall be billed at a Distribution Charge of 3.634 ¢ per kWh during the billing months of October through May and 5.875 ¢ per kWh during the summer billing months, a Transmission Charge of 0.612 ¢ per kWh and a Transmission Surcharge of 0.491 ¢ per kWh during all billing months. The applicability of Transmission Charges and the Transmission Surcharge is described in Part (3) of RATE – MONTHLY.

When this option is requested it shall apply for at least 12 months and shall be subject to a minimum charge of \$26.87 per year per kW of space heating capacity. This provision applies for both heating and cooling where the two services are combined by the manufacturer in a single self-contained unit.

All usage under this Special Provision shall also be subject to Parts (4), (5), and (6) of RATE – MONTHLY. This Special Provision is not available to those customers taking high voltage distribution service.

This special provision is closed to new customers effective August 1, 2014.

(B) Budget Billing Plan

Any condominium association or cooperative housing corporation who takes service hereunder and any other customer taking service under Special Provision B of this Service Classification may, upon request, be billed monthly in accordance with the budget billing plan provided for in General Information Section 8 of this tariff.

(Continued)

EFFECTIVE:

November 1, 2024

ISSUED:

RED LINE TARIFF LEAVES

GENERAL INFORMATION

No. 40 CONSERVATION INCENTIVE PROGRAM ("CIP") ADJUSTMENT (Continued)

Monthly customer group specific RPC targets are calculated by dividing the number of customers for each month into the monthly distribution revenue approved in the Company's most recent base rate filing. On a monthly basis, the allowed revenue shall be calculated by multiplying the customer group specific RPC target by the actual number of customers for that month in the customer group.

Month	Group A	Group B	Group C
Jul	<mark>95.04</mark> _87.08	<mark>291.27_268.30</mark>	3,697.89_3,409.52
Aug	<mark>98.12</mark> _89.92	<mark>297.58</mark> _272.47	3,294.38 _3,026.03
Sep	<mark>80.81_74.00</mark>	<mark>285.47_262.69</mark>	3,563.90_3,274.97
Oct	<mark>55.68</mark> _50.89	<mark>241.71_219.95</mark>	2,814.58_2,561.40
Nov	<mark>47.68_43.52</mark>	<mark>221.23</mark> _201.97	2,768.40 _2,517.15
Dec	<mark>56.46_51.60</mark>	<mark>236.73_215.17</mark>	2,856.63 _2,597.87
Jan	<mark>60.15</mark> _55.00	<mark>272.45_243.96</mark>	2,736.14 _2,488.42
Feb	<mark>54.70_49.98</mark>	233.15 _212.07	<mark>2,619.89</mark> _2,387.38
Mar	<mark>49.40_45.11</mark>	<mark>195.62_182.52</mark>	2,731.00_2,481.90
Apr	<mark>46.90_42.81</mark>	<mark>231.88_211.37</mark>	2,303.97 _2,113.73
May	<mark>48.49</mark> _44.27	<mark>224.88</mark> _205.68	2,683.06 _2,448.05
Jun	<mark>71.45_65.39</mark>	271.00 _250.19	3,226.55 _2,973.35

RPC Targets (\$/customer) – Effective January 1, 20222025

The Company will determine the maximum amount of revenue the Company may collect in a program year through the CIP Adjustment charges. For the first annual deferral period (July 1, 2021 through June 30, 2022), the maximum amount of revenue will be determined by taking 4.0% of the customer charge revenue, distribution usage revenue, and distribution demand revenue of customer groups A – C. In subsequent years, the maximum amount of revenue, and distribution demand revenue of customer groups A – C. If the amount to be collected (*i.e.*, the difference between actual revenue and allowed revenue) is larger than baseline amount established by the savings test, the difference between the total amount to be collected and the baseline will be deferred for collection in the following year.

ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430	Filed pursuant to Order o Utilities, State of New Jer 2021 in Docket No. ER21	rsey, dated December 15,

SERVICE CLASSIFICATION NO. 1 RESIDENTIAL SERVICE

APPLICABLE TO USE OF SERVICE FOR

Sales and delivery of electric power supply provided by the Company or delivery of electric power supply provided by an electric generation supplier under the Company's Retail Access Program to residential customers. All service at each residence shall be taken through one meter. Service will also be furnished hereunder to a church and adjacent buildings (other than school buildings which substitute for public education), owned by the church and operated in connection therewith; provided, however, that if the buildings of any such church group are separated by a highway or highways, then the electricity delivered to each group so separated shall not be combined with the electricity delivered to other buildings of the church group but shall be billed separately under this rate.

CHARACTER OF SERVICE

Continuous, 60 cycle, A.C., from any of the following systems as designated by the Company:

- (1) Single phase at approximately 120,120/208 or 120/240 volts.
- (2) Three phase four wire at approximately 120/208 volts in limited areas.

RATE – MONTHLY

		<u>Summe</u>	er Months*	Other Month	<u>s</u>
(1)	Customer Charge	\$5	5.75	\$5.75	
(2)	Distribution Charge				
	(a) Distribution Charge Applic	able to no	on-Time-of-Day Ser	vice	
	First 600 kWh Over 600 kWh	@ @	<u>6.0625.497</u> ¢ per 7.633 <u>6.921</u> ¢ per		
	(b) Distribution Charge Applic	cable to V	oluntary Time-of-Da	ay Service	
	<u>Peak</u> All kWh measured betweer 12:00 p.m. and 8:00 p.m., Monday Through Friday		<mark>14.032-<u>12.724</u>¢</mark> ¢	per kWh- <mark>10.79</mark>	1 <u>4-9.787</u> ¢ per kWh
	<u>Off Peak</u> All other kWh	@	<mark>4.2353.841</mark> ¢ p€	er kWh <mark>4.23</mark>	<mark>5-<u>3.841</u>¢ per kWh</mark>
* Defir	ition of Summer Billing Months	- June th	rough September		
					(Continued)

ISSUED: November 1, 2024 EFFECTIVE: January 1, 2025

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430

(2)

SERVICE CLASSIFICATION NO. 2 GENERAL SERVICE (Continued)

RATE – MONTHLY (Continued)

			Summer Months*	Other Months
<u>Distrib</u>	oution Charges			
(a)	Secondary Service	(Non-De	mand Billed)	
	<u>Usage Charge</u> All kWh .	@	<mark>4.938<u>4.117</u> ¢ per kW</mark>	′h <mark>4.474<u>3.731</u> ¢ per kWh</mark>
(b)	Secondary Service	(Demano	<u>d Billed)</u>	
		@	\$ <mark>5.94<u>5.40</u> per kW \$<mark>8.15<u>7.39</u> per kW</mark></mark>	
	<u>Usage Charge</u> First 4,920 kWh . Over 4,920 kWh .	@		/h <mark>2.982<u>2.707</u></mark> ¢ per kWh ′h <mark>2.763<u>2.508</u> _</mark> ¢ per kWh
(c)	Primary Service			
	Demand Charge			
	All kW .	@	<mark>\$10.15 <u>\$9.26</u> per kW </mark>	<mark>3.68</mark> \$ <u>7.91</u> _per kW
	<u>Usage Charge</u> All kWh	@	<mark>1.485<u>1.354</u> ¢ per kV</mark>	Vh 1.485<u>1.354</u> ¢ per kWh

* Definition of Summer Billing Months - June through September

(Continued)

ISSUED:	November 1, 2024	EFFECTIVE:
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430	Filed pursuant to (Utilities, State of N

January 1, 2025

SERVICE CLASSIFICATION NO. 2 GENERAL SERVICE (Continued)

SPECIAL PROVISIONS

(A) Short Term Secondary Service

When short term service is requested, the Company reserves the right to require a deposit of the estimated bill for the period service is desired. The minimum charge for such short term service shall be an amount equal to six times the minimum monthly charge, payable in advance. When construction is necessary, the cost of installation and removal of all equipment, less salvage value, shall be borne by the customer, and a sufficient amount to cover these charges shall be paid in advance. A part of a month shall be considered a full month for computing all charges hereunder.

(B) Space Heating

Customers who take service under this classification for 10 kW or more of permanently installed space heating equipment may elect to have the electricity for this service billed separately. All monthly use shall be billed at a Distribution Charge of $\frac{3.6793.365}{6.1295.605}$ ¢/kWh during the billing months of October through May and $\frac{6.1295.605}{6.1295.605}$ ¢/kWh during the summer billing months. When this option is requested it shall apply for at least 12 months and shall be subject to a minimum charge of \$26.87 per year per kW of space heating capacity. This provision applies for both heating and cooling where the two services are combined by the manufacturer in a single self-contained unit.

All usage under this Special Provision shall also be subject to Parts (3), (4), and (6) of RATE – MONTHLY.

This special provision is closed to new customers effective August 1, 2014.

(Continued)

ISSUED: November 1, 2024

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE: January 1, 2025

SERVICE CLASSIFICATION NO. 3 RESIDENTIAL TIME-OF-DAY HEATING SERVICE

APPLICABLE TO USE OF SERVICE FOR

Sales and delivery of electric power supply provided by the Company or delivery of electric power supply provided by an electric generation supplier under the Company's Retail Access Program to residential customers where an approved electric storage heater is used for customer's entire water heating requirements and/or permanently installed electric space heating equipment is the sole source of space heating, excluding fire places, on the premises. Solar energy collection devices may be used to supplement customer's water and/or space heating requirements.

CHARACTER OF SERVICE

Continuous, 60 cycle, A.C., from any of the following systems as designated by the Company:

- (1) Single phase at approximately 120,120/208 or 120/240 volts.
- (2) Three phase four wire at approximately 120/208 volts in limited areas.

RATE – MONTHLY

		Summer Months*	Other Months
(1)	Customer Charge	\$9.00	\$9.00
(2)	Distribution Charge		
	Peak All kWh measured between 10:00 a.m. and 10:00 p.m., Monday through Friday@	<mark>8.240<u>7.449</u> -</mark> ¢ per kWh <mark>7.3€</mark>	<mark>92-<mark>6.682</mark>¢ per kWh</mark>
	<u>Off-Peak</u> All other kWh@	<mark>2.968</mark> - <u>2.684</u> ¢ per kWh <mark>2.96</mark>	<mark>38</mark> - <u>2.684</u> ¢ per kWh

* Definition of Summer Billing Months - June through September

(Continued)

ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430	•	der of the Board of Public v Jersey, dated December 15, ER21050823.

RATE – MONTHLY

- (1) Distribution and Transmission Charges
 - (a) <u>Distribution Luminaire Charges</u>

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>		
Street Lighting Luminaires						
5,800	Sodium Vapor	70	108	<mark>\$10.09</mark>		
9,500	Sodium Vapor	100	142	<mark>10.95</mark> 10.01		
16,000	Sodium Vapor	150	199	<mark>13.32</mark> 12.18		
27,500	Sodium Vapor	250	311	<mark>17.01</mark> 15.56		
46,000	Sodium Vapor	400	488	<mark>27.58</mark> 25.23		
3,000	LED	15-29	23	<mark>9.27</mark> 8.48		
3,900	LED	30-39	35	<mark>9.08</mark> 8.31		
5,000	LED	40-59	50	<mark>9.11</mark> 8.33		
7,250	LED	60-89	68	<mark>9.50</mark> 8.69		
12,000	LED	90-129	103	<mark>10.67</mark> 9.77		
16,000	LED	130-169	140	<mark>11.20</mark> 10.24		
22,000	LED	170-220	200	<mark>16.40<u>15.00</u></mark>		
Flood Light	ing Luminaires					
15,500	LED	100-159	125	\$12.90 \$11.80		
27,000	LED	160-249	205	<mark>16.45</mark> 15.04		
37,500	LED	250-320	290	<mark>17.92</mark> 16.40		
The following luminaires will no longer be installed. Charges are for existing luminaires only.						

Street Lighting Luminaires

1,000	Open Bottom Incandescent	92	92	<mark>\$6.67</mark> <u>\$6.11</u>
4,000	Mercury Vapor	100	127	<mark>9.04</mark> 8.27
7,900	Mercury Vapor	175	211	<mark>10.65</mark> 9.75
12,000	Mercury Vapor	250	296	<mark>13.85</mark> 12.67
22,500	Mercury Vapor	400	459	<mark>17.58</mark> 16.08
40,000	Mercury Vapor	700	786	<mark>26.74</mark> 24.46
59,000	Mercury Vapor	1,000	1,105	<mark>33.79</mark> 30.90

(Continued)

ISSUED: N

November 1, 2024

EFFECTIVE:

January 1, 2025

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430

RATE – MONTHLY (Continued)

- (1) <u>Distribution and Transmission Charges</u> (Continued)
 - (a) <u>Distribution Luminaire Charges</u> (Continued)

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>	
Street Lig	hting Luminaires (Con	<u>tinued)</u>			
3,400 5,950 8,500 5,890 9,365	Induction Induction Induction LED LED	40 70 100 70 100	45 75 110 74 101	\$10.56_\$9.65 10.75_9.83 12.14_11.11 11.56_10.57 -14.1912.98	
Post-Top Luminaires					
4,000	Mercury Vapor	100	130	\$13.75 -\$12.58	
7,900	Mercury Vapor	175	215	16.85 15.41	
7,900	Merc. Vapor-Offset	175	215	<mark>19.78-</mark> 18.09	
16,000 S	Sodium Vapor-Offset	150	199	<mark>26.92</mark> 24.62	

(b) <u>Transmission Charges</u>

A Transmission Charge of 1.455 ¢ per kWh will apply to all customers taking Basic Generation Service from the Company. Transmission charges are also applicable to customers located in the Company's Central and Western Divisions and obtaining Competitive Energy Supply. Transmission charges are not applicable to customers located in the Company's Eastern Division and obtaining Competitive Energy Supply. The Company's Eastern, Central and Western Divisions are defined in General Information Section No. 1. A Transmission Surcharge, to recover Reliability Must Run Charges, of 0.000 ¢ per kWh will also apply to all customers taking Basic Generation Service from the Company.

Transmission Charges shall be applied to the kWh estimate in the following manner:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

*See Monthly Burn Hours Table

(Continued)

ISSUED: November 1, 2024

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE:

January 1, 2025

RATE – MONTHLY (Continued)

- (2) Additional Charge
 - (a) An additional <u>\$21.06</u> <u>\$23.02</u> per luminaire per month will be charged for existing Underground Service where the Company owns and maintains the entire

facilities.

- (b) An additional <u>\$5.60_\$5.12</u> per luminaire per month will be charged for existing underground service where the customer has installed, owns and maintains the duct system complete, but not the aluminum standard or luminaire.
- (c) An additional <u>\$0.63_\$0.58</u>-per bracket per month will be charged for a fifteen foot bracket when installed.
- (3) <u>Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act</u> <u>Credit, and Zero Emission Certificate Recovery Charge.</u>

The provisions of the Company's Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act Credit, and Zero Emission Certificate Recovery Charge as described in General Information Section Nos. 33, 34, 36, and 37 respectively shall be assessed on all kWh delivered hereunder.

The charges shall be applied to the kWh estimate in the following manner:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

* See Monthly Burn Hours Table.

(Continued)

EFFECTIVE:

ISSUED: November 1, 2024

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 Filed pursuant to Order of the Board of Public Utilities, State of New Jersey, dated December 15, 2021 in Docket No. ER21050823.

January 1, 2025

RATE – MONTHLY

(1) <u>Distribution and Transmission Charges</u>

(a) Luminaire Charges for Service Types A and B

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>
Power Bra	acket Luminaires			
5,800 9,500 16,000 3,950 5,550 7,350	Sodium Vapor Sodium Vapor Sodium Vapor LED LED LED	70 100 150 25-39 45-55 56-70	108 142 199 35 50 65	\$7.31_ <u>\$6.69</u> 8.79_8.04 9.43_8.63 8.54_7.82 8.67_7.93 8.75_8.01
Street Lig	hting Luminaires			
5,800 9,500 16,000 27,500 46,000 3,000 3,900 5,000 7,250 12,000 16,000 22,000	Sodium Vapor Sodium Vapor Sodium Vapor Sodium Vapor LED LED LED LED LED LED LED LED	70 100 150 250 400 15-29 30-39 40-59 60-89 90-129 130-169 170-220	108 142 199 311 488 23 35 50 68 103 140 200	\$10.17 \$9.31 11.16 10.21 13.72 12.55 17.59 16.09 29.03 26.56 9.27 8.48 9.08 8.31 9.11 8.33 9.50 8.69 10.67 9.77 11.20 10.24 16.40 15.00
Flood lighting Luminaires				
46,000 15,500 27,000 37,500	Sodium Vapor LED LED LED	400 100-159 160-249 250-320	488 125 205 290	29.03_\$26.56 1 <u>2.90_11.80</u> 16.45_15.04 17.92_16.40

(Continued)

ISSUED:

November 1, 2024

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE: January 1, 2025

RATE – MONTHLY (Continued)

- (1) <u>Distribution and Transmission Charges</u> (Continued)
 - (a) <u>Luminaire Charges for Service Types A and B</u> (Continued)

Nominal <u>Lumens</u>	Luminaire Type	<u>Watts</u>	Total <u>Wattage</u>	Distribution <u>Charge</u>			
	The following luminaires will no longer be installed. Charges are for existing luminaires only.						
Power Br	acket Luminaires						
4,000 7,900 22,500	Mercury Vapor Mercury Vapor Mercury Vapor	100 175 400	127 215 462	<mark>\$11.34_\$10.37</mark> 1 3.11_12.00 20.92_19.14			
Post Top	<u>Luminaires</u>						
16,000 \$	Sodium Vapor-Offse	t 150	199 <mark>(</mark>	\$27.00_\$24.69			
Street Lig	hting Luminaires						
4,000 7,900 22,500 1,000 3,400 5,950 8,500 5,890 9,365 <u>Flood ligh</u>	Mercury Vapor Mercury Vapor Mercury Vapor Incandescent Induction Induction LED LED	100 175 400 - 40 70 100 70 100	127 211 459 92 45 75 110 74 101	\$12.48_\$11.41 14.26_13.04 22.16_20.27 10.14_9.28 10.94_10.00 11.48_10.23 12.60_11.53 14.75_13.49			
12,000 40,000 59,000	Mercury Vapor Mercury Vapor Mercury Vapor	250 700 1,000	296 786 1,105	<mark>\$17.93_\$16.40</mark> 32.47_29.70 40.43_36.98			

		(Continued)	
ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President Mahwah, New Jersey 07430	•	der of the Board of Public w Jersey, dated December 15, ER21050823.

RATE – MONTHLY (Continued)

- (1)Distribution and Transmission Charges (Continued)
 - Distribution Charges for Service Type C (b)

Metered Service -	Customer Charge at \$16.00 per month plus Distribution Charge at <mark>6.444<u>5.812</u> ¢ per kWh; or</mark>
Unmetered Service -	Customer Charge at \$4.00 per month plus Distribution Charge at <mark>6.444<u>5.812</u> ¢ per kWh.</mark>

(c) Transmission Charges for Service Types A, B, and C

> A Transmission Charge of 1.455 ¢ per kWh will apply to all customers taking Basic Generation Service from the Company. Transmission charges are also applicable to customers located in the Company's Central and Western Divisions and obtaining Competitive Energy Supply. Transmission charges are not applicable to customers located in the Company's Eastern Division and obtaining Competitive Energy Supply. The Company's Eastern, Central and Western Divisions are defined in General Information Section No. 1. A Transmission Surcharge, to recover Reliability Must Run Charges, of 0.000 ¢ per kWh will also apply to all customers taking Basic Generation Service from the Company.

For service type A, B, or C if not metered, the charges shall be applied to the kWh estimated as follows:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

(2) Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act Credit, and Zero Emission Certificate Recovery Charge.

The provisions of the Company's Societal Benefits Charge, Regional Greenhouse Gas Initiative Surcharge, Temporary Tax Act Credit, and Zero Emission Certificate Recovery Charge as described in General Information Section Nos. 33, 34, 36, and 37 respectively shall be assessed on all kWh delivered hereunder. For service type A, B, or C if not metered, the charges shall be applied to the kWh estimated as follows:

kWh = (Total Wattage divided by 1,000) times Monthly Burn Hours*

* See Monthly Burn Hours Table.

(Continued)

ISSUED:	November 1, 2024	EFFECTIVE:	January 1, 2025
ISSUED BY:	Michele O'Connell, President	•	r of the Board of Public Jersev. dated December 15.

Mahwah, New Jersey 07430 2021 in Docket No. ER21050823.

SPECIAL PROVISIONS

Special Provisions A, B, D, E, F, and J apply only to Service Types A and B. Special Provision K applies only to Service Type C. Special Provisions C, G, H, and I apply to Service Types A, B, and C.

(A) Street lighting luminaires will normally be mounted on eight foot aluminum brackets.
Fifteen foot brackets are available at an additional charge of \$0.74\$0.65
per bracket per

month.

- (B) Luminaires will be installed free of charge where all facilities necessary to serve a luminaire are present. Customer shall pay the cost of any additional facilities required, prior to the commencement of the construction of such facilities.
- (C) The customer shall furnish the Company with all easements or rights-of-way necessary to provide service to the desired location before any installation or construction will be started.
- (D) A customer may apply for service hereunder for a proposed residential subdivision in which all electric facilities will be underground. Such application shall be signed by the customer and builder or developer and when accepted by the Company, shall constitute an agreement between the Company, customer and builder or developer subject to the terms and provisions hereunder.

The builder or developer shall pay to the Company prior to the commencement of any construction all costs associated with the installation of the facilities to be serviced hereunder and shall prepay six times the total monthly charge for all luminaires installed. Said monthly charges shall be determined using the rates in effect at the time said costs and charges are determined. The Company shall not bill the customer for the first six months of service of the facilities installed under this special provision.

(E) The Company shall not be obligated to repair or replace in kind any obsolete luminaire for which it cannot reasonably obtain the necessary parts. The Company will remove the obsolete luminaire or at the customer's request, replace it with any luminaire offered for service at that time for which the customer will be charged the appropriate rates.

(Continued)

EFFECTIVE: January 1, 2025

November 1, 2024

ISSUED:

SERVICE CLASSIFICATION NO. 7 LARGE GENERAL TIME-OF-DAY SERVICE (Continued)

RATE – MONTHLY (Continued)

(2) <u>Distribution Charges</u>

	<u>Primary</u>	High Voltage <u>Distribution</u>
<u>Demand Charge</u> Period I Period II Period III Period IV	All kW @ <mark>\$5.51-<u>\$5.03</u> per kW All kW @ 1.35-<u>1.24</u> per kW All kW @ 5.05-<u>4.62</u> per kW All kW @ <mark>1.35-<u>1.24</u> per kW</mark></mark>	<mark>\$1.47_<u>\$1.33</u> per kW 0.34_0.31 per kW 1.34-<u>1.22</u> per kW 0.34_0.31 per kW</mark>
<u>Usage Charge</u> Period I Period II Period III Period IV	All kWh @ <mark>1.770-<u>1.616</u>¢ per kV</mark> All kWh @ <mark>1.325-<u>1.210</u>¢ per kV All kWh @ <mark>1.770-<u>1.616</u>¢ per kV</mark> All kWh @ <mark>1.325-<u>1.210</u>¢ per kV</mark></mark>	Vh

(3) <u>Transmission Charges</u>

(a) These charges apply to all customers taking Basic Generation Service from the Company. These charges are also applicable to customers located in the Company's Central and Western Divisions and obtaining Competitive Energy Supply. These charges are not applicable to customers located in the Company's Eastern Division and obtaining Competitive Energy Supply. The Company's Eastern, Central and Western Divisions are defined in General Information Section No. 1.

(Continued)

ISSUED BY: Michele O'Connell, President Mahwah, New Jersey 07430 EFFECTIVE: January 1, 2025

SERVICE CLASSIFICATION NO. 7 LARGE GENERAL TIME-OF-DAY SERVICE (Continued)

SPECIAL PROVISIONS

(A) Space Heating

Customers who take service under this classification for 10 kW or more of permanently installed space heating equipment may elect to have the electricity for this service billed separately. All monthly use shall be billed at a Distribution Charge of $\frac{3.9733.634}{6}$ ¢ per kWh during the billing months of October through May and $\frac{6.4235.875}{6}$ ¢ per kWh during the summer billing months, a Transmission Charge of 0.612 ¢ per kWh and a Transmission Surcharge of 0.491 ¢ per kWh during all billing months. The applicability of Transmission Charges and the Transmission Surcharge is described in Part (3) of RATE – MONTHLY.

When this option is requested it shall apply for at least 12 months and shall be subject to a minimum charge of \$26.87 per year per kW of space heating capacity. This provision applies for both heating and cooling where the two services are combined by the manufacturer in a single self-contained unit.

All usage under this Special Provision shall also be subject to Parts (4), (5), and (6) of RATE – MONTHLY. This Special Provision is not available to those customers taking high voltage distribution service.

This special provision is closed to new customers effective August 1, 2014.

(B) Budget Billing Plan

Any condominium association or cooperative housing corporation who takes service hereunder and any other customer taking service under Special Provision B of this Service Classification may, upon request, be billed monthly in accordance with the budget billing plan provided for in General Information Section 8 of this tariff.

(Continued)

EFFECTIVE:

November 1, 2024

ISSUED:

Removal of Expiring Amortization Costs - Base Rate Reset

Proof of Revenues for Rates Effective January 1, 2025

Proof of Revenue Summary Removal of Expiring Amortization Costs - Base Rate Reset

Service <u>Classification</u>	Change <u>(\$000s)</u>
SC1 Res Svc SC2 Sec Non Dmd Billed SC2 Sec Dmd Billed SC2 Space Heating SC2 Pri SC3 Res TOD Heating SC4 Public Street Lighting SC6 POL - Dusk to Dawn SC6 POL - Energy Only SC7 Pri SC7 High Voltage SC7 Space Heating	(\$4,210.5) (\$43.9) (2,137.6) (51.5) (243.2) (1.6) (103.8) (45.7) (11.6) (333.4) (21.8) (20.3) (\$7,224.9)
Proposed Increase/(Decrease)	(\$7,226.2)
Over/(Under)	\$1.3

Calculation of Revenue Ratios

		Distribution	
	Test Year	Revenue Based On	
Service	Distribution	Historic Billing	Revenue
<u>Classification</u>	<u>Revenue (\$000s) (1)</u>	<u>Determinants (\$000s) (2)</u>	<u>Ratio (3)</u>
0015	* 40,000,0	A 40,000 F	
SC1 Res Svc	\$49,320.6	\$49,320.5	0.999999
SC2 Sec Non Dmd Billed	514.8	514.8	1.000050
SC2 Sec Dmd Billed	25,066.9	25,067.0	1.000003
SC2 Space Heating	604.0	604.0	1.000000
SC2 Pri	2,844.2	2,844.2	1.000001
SC3 Res TOD Heating	18.5	18.5	0.999855
SC4 Public Street Lighting	1,216.6	1,216.6	0.999969
SC6 POL - Dusk to Dawn	535.6	535.8	1.000328
SC6 POL - Energy Only	136.2	136.2	1.000008
SC7 Pri	3,901.8	3,901.8	1.000000
SC7 High Voltage	257.6	257.6	1.000000
SC7 Space Heating	<u>238.2</u>	<u>238.2</u> 0.999995	
	\$84,655.1	\$84,655.3	1.000002

(1) Excludes Sales and Use Tax

- (2) Historic Billing Determinants (Twelve Months Ended September 2021) Priced at Current Rates
- (3) Historic Year Revenue / Test Year Revenue

Proof of Revenue

Service Classification No. 1

Plack	20	Dill Unite	Current Distribution Rates (1)	Current Distribution Revenue (1)
<u>Block</u>	ing	Bill Units	Rales (1)	<u>Revenue (1)</u>
Number of Bills 773,455 Removal of Expiring Amortization Costs - Base Rate Reset		\$5.39	\$4,168,923	
	First 600 kWh - Summer	137,866,447	0.05685	7,837,708
	First 600 kWh - Winter	252,190,461	0.05685	14,337,028
	Over 600 kWh - Summer	182,945,756	0.07159	13,097,087
	Over 600 kWh - Winter	<u>173,786,336</u>	0.05685	<u>9,879,753</u>
	Total	746,789,000		\$49,320,498
			Proposed	Proposed
_		S	Distribution	Distribution
Block	ing	Bill Units	<u>Rates (1)</u>	<u>Revenue (1)</u>
Numb kWh:	er of Bills	773,455	\$5.39	\$4,168,923
	First 600 kWh - Summer	137,866,447	0.05155	7,107,015
	First 600 kWh - Winter	252,190,461	0.05155	13,000,418
	Over 600 kWh - Summer	182,945,756	0.06491	11,875,009
	Over 600 kWh - Winter	<u>173,786,336</u>	0.05155	<u>8,958,686</u>
	Total	746,789,000		\$45,110,051
	Rev Ratio	0.999999		
			Revenue Summary	
			Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
		Revenue at Current Rates Revenue at Proposed Rates Increase/(Decrease Target Increase/(Decrease) Difference	\$49,320,557 <u>\$45,110,106</u> (\$4,210,452) <u>(\$4,210,025)</u> (\$427)	\$49,320,498 <u>\$45,110,051</u> (\$4,210,447) <u>(\$4,210,020)</u> (\$427)
		Proposed Change (\$000s)	(\$4,210.5)	

(1) Excluding SUT

Proof of Revenue

Service Classification No. 2 Secondary Non-Demand Billed

<u>Blockin</u>	ā	<u>Bill Units</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Remov	al of Expiring Amortization Costs - Base Rate Res	et 10,995	\$13.13	\$144,364
Numbe	r of Bills (Non Demand Metered)	7,065	\$15.01	\$106,040
kWh:	All kWh - Summer All kWh - Winter	1,753,352 <u>4,366,275</u>	0.04631 0.04196	81,198 <u>183,209</u>
	Total	6,119,628		\$514,811
<u>Blockin</u>	a	Bill Units	Proposed Distribution <u>Rates (1)</u>	Proposed Distribution <u>Revenue (1)</u>
Numbe	r of Bills (Unmetered)	10,995	\$13.13	\$144,364
Numbe	r of Bills (Non Demand Metered)	7,065	\$15.01	\$106,040
kWh:	All kWh - Summer All kWh - Winter	1,753,352 <u>4,366,275</u>	0.03861 0.03499	67,697 <u>152,776</u>
	Total	6,119,628		\$470,876.91
	Rev Ratio	1.000050	Reven	ue Summary
			Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
		Revenue at Current Rates Revenue at Proposed Rates Increase/(Decrease Target Increase/(Decrease) Difference Proposed Change (\$000s)	\$514,785 <u>\$470,853</u> (\$43,932) <u>(\$43,942)</u> \$11 (\$43.9)	\$514,811 <u>\$470,877</u> (\$43,934) <u>(\$43,944)</u> \$11
		Toposed Change (\$0005)	(\$43.9)	

Proof of Revenue

Service Classification No. 2 Secondary Demand Billed

	Billing <u>Units</u>	Current Delivery <u>Charge (1)</u>	Current Delivery <u>Revenue (1)</u>
Blocking			
Remova Number of Bills	85,029	\$22.51	\$1,913,995
Demand Charge:	404 700		500.007
First 5 kW - Summer First 5 kW - Winter	104,788 215,077	5.57 4.64	583,667 997,959
Over 5 kW - Summer	488,396	7.64	3,731,344
Over 5 kW - Winter	<u>829,344</u>	6.41	<u>5,316,095</u>
Subtotal	1,637,605		10,629,066
Metered Usage Charges:			
First 4,920 kWh - Summer First 4,920 kWh - Winter	55,016,609 103,507,263	0.02946 0.02797	1,620,789 2,895,098
Over 4,920 kWh - Summer	114,854,848	0.02654	3,048,248
Over 4,920 kWh - Winter	191,423,500	0.03	4,959,783
Subtotal	464,802,220		12,523,918
Total			25,066,978
		Duran a sa d	Duran a sa d
	Billing	Proposed Delivery	Proposed Delivery
	<u>Units</u>	Charge (1)	Revenue (1)
Blocking			
Number of Bills	85,029	\$22.51	\$1,913,995
Demand Charge:			
First 5 kW - Summer	104,788	5.06	530,226
First 5 kW - Winter Over 5 kW - Summer	215,077 488,396	4.21 6.93	905,476 3,384,583
Over 5 kW - Winter	829,344	5.82	<u>4,826,782</u>
Subtotal	1,637,605		9,647,067
Metered Usage Charges:			
First 4,920 kWh - Summer	55,016,609	0.02674	1,471,144
First 4,920 kWh - Winter Over 4,920 kWh - Summer	103,507,263 114,854,848	0.02539 0.02409	2,628,049 2,766,853
Over 4,920 kWh - Winter	191,423,500	0.02409	4,502,281
Subtotal	464,802,220		11,368,328
Total			22,929,389
Rev Ratio	1.000003		
		Revenue Si	ummary
			Distribution
		Test Year	Revenue Based On
		Distribution Revenue	Historic Billing Determinants
	Revenue at Current Rates	\$25,066,893	\$25,066,978
	Revenue at Proposed Rates	<u>\$22,929,311</u>	<u>\$22,929,389</u>
	Increase/(Decrease Target Increase/(Decrease)	(\$2,137,582) <u>(\$2,139,721)</u>	(\$2,137,589) <u>(\$2,139,728)</u>
	Difference	<u>(\$2,139,721)</u> \$2,139	<u>(\$2,139,728)</u> \$2,139
	Proposed Change (\$000s)	(\$2,137.6)	

Proof of Revenue

Service Classification No. 2 Space Heating

<u>Blocki</u>	ng	<u>Bill Units</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Remov	val of Expiring Amortization (Costs - Base Rate Res	set	
kWh:	Space Heating - Summer Space Heating - Winter	4,135,283 <u>10,617,962</u>	0.05748 0.03450	237,696 <u>366,320</u>
	Total	14,753,244		\$604,016
<u>Blockii</u>	ng	<u>Bill Units</u>	Proposed Distribution <u>Rates (1)</u>	Proposed Distribution <u>Revenue (1)</u>
kWh:	Space Heating - Summer Space Heating - Winter	4,135,283 <u>10,617,962</u>	0.05257 0.03156	217,392 <u>335,103</u>
	Total	14,753,244		\$552,495
	Rev Ratio 1.000000		Revenue Summary	
			Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
	Revenue a Ir	e at Current Rates at Proposed Rates ncrease/(Decrease crease/(Decrease) Difference	\$604,016 <u>\$552,495</u> (\$51,521) <u>(\$51,521)</u> (\$0)	\$604,016 <u>\$552,495</u> (\$51,521) <u>(\$51,521)</u> (\$0)
	Propose	d Change (\$000s)	(\$51.5)	

Proof of Revenue

Service Classification No. 2 Primary

Blocking		<u>Bill Units</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
<u>Removal of Exp</u> Number of Bills	iring Amortization Costs	<u>- Base Rate Reset</u> 972	\$93.79	\$91,155
kW:	All kW - Summer All kW - Winter Subtotal	71,382 <u>125,169</u> 196,550	9.52 8.14	679,555 <u>1,018,872</u> 1,698,427
kWh:	All kWh - Summer All kWh - Winter Subtotal	26,719,478 <u>48,992,186</u> 75,711,664	0.01393 0.01393	372,202 <u>682,461</u> 1,054,663
	Total			\$2,844,245
Blocking		<u>Bill Units</u>	Proposed Distribution <u>Rates (1)</u>	Proposed Distribution <u>Revenue (1)</u>
Number of Bills		972	\$93.79	\$91,155
kW:	All kW - Summer All kW - Winter Subtotal	71,382 <u>125,169</u> 221,447	8.68 7.42	619,594 <u>928,751</u> 1,548,345
kWh:	All kWh - Summer All kWh - Winter Subtotal	26,719,478 <u>48,992,186</u> 86,144,071	0.01270 0.01270	339,337 <u>622,201</u> 961,538
	Total			\$2,601,038
Rev Ratio	1.000001		Revenue Su	immary
			Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
	Revenue a In	e at Current Rates at Proposed Rates crease/(Decrease crease/(Decrease) Difference	\$2,844,242 <u>\$2,601,035</u> (\$243,207) <u>(\$242,786)</u> (\$421)	\$2,844,245 <u>\$2,601,038</u> (\$243,207) <u>(\$242,786)</u> (\$421)

Proposed Change (\$000s) (\$243.2)

Proof of Revenue

Service Classification No. 3

Blocking		<u>Bill Units</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Removal of Expiring Am kWh:	ortization (243	\$8.44	\$2,051
Peak - Summer Peak - Winter Off Peak - Sumn Off Peak - Winte Total		54,969 83,470 77,412 <u>151.698</u> 367,549	0.07728 0.06933 0.02784 0.02784	4,248 5,787 2,155 <u>4,223</u> \$18,464
Blocking		<u>Bill Units</u>	Proposed Distribution <u>Rates (1)</u>	Proposed Distribution <u>Revenue (1)</u>
Number of Bills kWh:		243	\$8.44	\$2,051
Peak - Summer Peak - Winter Off Peak - Sumn Off Peak - Winte		54,969 83,470 77,412 <u>151,698</u>	0.06986 0.06267 0.02517 0.02517	3,840 5,231 1,948 <u>3,818</u>
Total		367,549		\$16,889
Rev Ratio	0.999855		Revenue Su	ımmary
			Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
	Revenue at Pr Increa Target Increa	Current Rates oposed Rates ase/(Decrease se/(Decrease) Difference nange (\$000s)	\$18,467 <u>\$16,891</u> (\$1,575.732) (\$1,576.351) \$1 (\$1.6)	\$18,464 <u>\$16,889</u> (\$1,575.504) <u>(\$1,576.123)</u> \$1
	i ioposed Oi		(φ1.0)	

Proof of Revenue

Service Classification No. 4

<u>Luminair</u>	res	Monthly <u>No. Lights</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Remov	9500 SV	2,400	\$9.46	\$22,704
	1600 SV	1,393	10.27	14,306
	27500 SV	276	12.49	3,447
	46000 SV	223	15.95	3,557
	3000 SV	382	25.87	9,882
	3900 LED	2	8.69	17
	5000 LED	29	8.52	247
	7250 LED	8	8.54	68
	1200 LED	7	8.91	62
	16000 LED	1	10.01	10
	4000 OBI	185	6.26	1,158
	7900 MV	2,952	8.48	25,033
	1200 MV	1,296	9.99	12,947
	22500 MV	41	12.99	533
	40000 MV	197	16.49	3,249
	59000 MV	17	25.08	426
	3400 MV	9	31.69	285
	5950 IN	13	9.90	129
	8500 IN	2	10.08	20
	5890 IN	2	11.39	23
	9365 LED	35	10.84	379
	4000 LED	59	13.31	785
	7900 MV - Post Top	1	12.90	13
	7900 MV - Post Top	1	15.80	16
	SV - Post Top - Off Set	<u>76</u>	25.25	<u>1,919</u>
Т	otal	9,607		\$101,217
1	5 Foot Brackets	283	0.59	167
U	Indrg - Co. Owned	0	21.59	0
U	Indrg - Cust. Owned	0	5.25	<u>0</u>
Т	otal Monthly Revenue			\$101,383
А	nnual Total			\$1,216,602

Service Classification No. 4 (Continued)

Service Classification No. 4 (Continued)		- ·	- ·
	••	Proposed	Proposed
	Monthly	Distribution	Distribution
Luminaires	<u>No. Lights</u>	<u>Rates (1)</u>	<u>Revenue (1)</u>
9500 SV	2,400	\$8.65	\$20,760
1600 SV	1,393	9.39	13,080
27500 SV	276	11.42	3,152
46000 SV	223	14.59	3,254
3000 SV	382	23.66	9,038
3900 LED	2	7.95	16
5000 LED	29	7.79	226
7250 LED	8	7.81	62
1200 LED	7	8.15	57
16000 LED	1	9.16	9
4000 OBI	185	5.73	1,060
7900 MV	2,952	7.76	22,908
1200 MV	1,296	9.14	11,845
22500 MV	41	11.88	487
40000 MV	197	15.08	2,971
59000 MV	17	22.94	390
3400 MV	9	28.98	261
5950 IN	13	9.05	118
8500 IN	2	9.22	18
5890 IN	2	10.42	21
9365 LED	35	9.91	347
4000 LED	59	12.17	718
7900 MV - Post Top	1	11.80	12
7900 MV - Post Top	1	14.45	14
SV - Post Top - Off Set	<u>76</u>	23.09	<u>1,755</u>
Total	9,607		\$92,579
15 Foot Brackets	283	0.54	153
Undrg - Co. Owned	0	19.75	0
Undrg - Cust. Owned	0	4.80	<u>0</u>
Total Monthly Revenue			\$92,732
Annual Total			\$1,112,781
Rev Ratio 0.999969)		
		Revenue	Summary

	Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
Revenue at Current Rates Revenue at Proposed Rates Increase/(Decrease Target Increase/(Decrease) Difference	\$1,216,640 <u>\$1,112,816</u> (\$103,824) <u>(\$103,853)</u> \$29	\$1,216,602 <u>\$1,112,781</u> (\$103,821) <u>(\$103,850)</u> \$29
Proposed Change (\$000s)	(\$103.8)	

Proof of Revenue

Service Classification No. 6 Dusk to Dawn

<u>Dusk to Dawr</u> Lumina	-	Monthly <u>No. Lights</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Remo	5800 SV	7	\$6.86	\$48
	9500 SV	4	8.24	33
	16000 SV	3	8.84	27
	5800 SV	39	9.54	372
	9500 SV	77	10.47	806
	16000 SV	38	12.87	489
	27500 SV	345	16.50	5,693
	46000 SV	857	27.23	23,336
	4000 MV	29	10.64	309
	7900 MV	22	12.30	271
	22500 MV	3	19.62	59
	16000 SVO	11	25.32	279
	4000 MV	31	11.70	363
	7900 MV	52	13.37	695
	22500 MV	389	20.78	8,083
	9365 LED	11	13.83	152
	12000 MV	33	16.82	555
	40000 MV	6	30.45	183
	59000 MV	<u>75</u>	37.92	<u>2,844</u>
Total		<u>2,032</u>		\$44,595
15 Foot B	rackets	80	0.67	<u>54</u>
Total Mon	thly Revenue			\$44,649
Total Ann	ual Revenue			\$535,786

Service Classification No. 6 (Continued)

<u>Dusk to Dawn</u>			Monthly	Proposed Distribution	Proposed Distribution
Luminaire	<u>es</u>		No. Lights	Rates (1)	Revenue (1)
	5,800	SV	7	\$6.27	\$44
	9,500	SV	4	7.54	30
	16,000	SV	3	8.09	24
	5,800	SV	39	8.73	340
	9,500	SV	77	9.58	738
	16,000	SV	38	11.77	447
	27,500	SV	345	15.09	5,206
	46,000	SV	857	24.91	21,348
	4,000	MV	29	9.73	282
	7,900	MV	22	11.25	248
	22,500	MV	3	17.95	54
	16,000	SVO	11	23.16	255
	4,000	MV	31	10.70	332
	7,900	MV	52	12.23	636
	22,500	MV	389	19.01	7,395
	9,365	LED	11	12.65	139
	12,000	MV	33	15.38	508
	40,000	MV	6	27.85	167
	59,000	MV	<u>75</u>	34.68	<u>2,601</u>
Total			<u>2,032</u>		\$40,793
15 Foot Brac	kets		80	0.61	<u>49</u>
Total Monthly	y Revenue				\$40,842
Total Annual	Revenue				\$490,105

Rev Ratio 1.000328

Revenue Summary

	Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
Revenue at Current Rates Revenue at Proposed Rates Increase/(Decrease Target Increase/(Decrease) Difference	\$535,610 <u>\$489,944</u> (\$45,666) <u>(\$45,720)</u> \$54	\$535,786 <u>\$490,105</u> (\$45,681) <u>(\$45,735)</u> \$54
Proposed Change (\$000s)	(\$45.7)	

Proof of Revenue

Service Classification No. 6 Energy Only

Energy Only Lighting			_	
Blocking		Annual Bill Units	Current Distribution Rates (1)	Current Distribution Revenue (1)
Number of Bills			<u></u>	<u> (-)</u>
Re Metered		1,140	\$15.01	\$17,111
Unmetered		162	3.75	608
Energy (kWh) - Summer		618,025	0.06044	37,353
Energy (kWh) - Winter		1,342,717	0.06044	<u>81,154</u>
Total		1,960,742		\$136,226
			Proposed	Proposed
Blocking		Annual	Distribution	Distribution
		Bill Units	<u>Rates (1)</u>	Revenue (1)
Number of Bills				
Metered		1,140	\$15.01	\$17,111
Unmetered		162	3.75	608
Energy (kWh) - Summer		618,025	0.05451	33,689
Energy (kWh) - Winter		1,342,717	0.05451	<u>73,192</u>
Total		1,960,742		\$124,599
Rev Ratio	1.000008			
			Rever	nue Summary
				Distribution
			Test Year	Revenue Based On
			Distribution	Historic Billing
			Revenue	Determinants
	Revenue at C	urrent Rates	\$136,225	\$136,226
	Revenue at Prop		\$124,598	\$124,599
		e/(Decrease	(\$11,627)	(\$11,627)
	Target Increase	``	(\$11,628)	(\$11,628)
	5	Difference	\$1	<u>(+ , - = - ,</u> \$1

Proposed Change (\$000s)

(\$11.6)

Proof of Revenue

Service Classification No. 7 Primary

Disclose		Rill Lipito	Current Distribution	Current Distribution Revenue (1)
Blocking	<u>4</u>	Bill Units	<u>Rates (1)</u>	<u>Revenue (1)</u>
Remova	al of Expiring Amortizatic	211	\$281.36	\$59,367
kW:	Period I	105,234	5.17	544,059
	Period II	101,877	1.27	129,384
	Period III Period IV	185,590 177,693	4.74 1.27	879,694 225,670
	Fellou IV	177,095	1.27	225,070
kWh:	Period I	19,467,816	0.01660	323,166
	Period II	31,017,052	0.01243	385,542
	Period III	36,658,444	0.01660	608,530
	Period IV	<u>60,050,621</u>	0.01243	<u>746,429</u>
	Total	147,193,933		\$3,901,842
			Proposed	Proposed
			Distribution	Distribution
Blocking		Bill Units	<u>Rates (1)</u>	<u>Revenue (1)</u>
Number of Bills		211	\$281.36	\$59,367
kW:	Period I	105,234	4.72	496,704
	Period II	101,877	1.16	118,178
	Period III	185,590	4.33	803,603
	Period IV	177,693	1.16	206,124
kWh:	Period I	19,467,816	0.01516	295,132
	Period II	31,017,052	0.01135	352,044
	Period III	36,658,444	0.01516	555,742
	Period IV	<u>60,050,621</u>	0.01135	<u>681,575</u>
	Total	147,193,933		\$3,568,467
	Rev Ratio 1.000000			
			Revenue	Summary
				Distribution
			Test Year	Revenue Based On
			Distribution	Historic Billing
			Revenue	Determinants
		Current Rates	\$3,901,840	\$3,901,842
		oposed Rates	<u>\$3,568,466</u>	<u>\$3,568,467</u>
		ase/(Decrease	(\$333,374)	(\$333,375)
	i arget increa	se/(Decrease) Difference	<u>(\$333,063)</u> (\$212)	<u>(\$333,063)</u> (\$212)
		Difference	(\$312)	(\$312)

Proposed Change (\$000s) (\$333.4)

Proof of Revenue

Service Classification No. 7 Primary - High Voltage Distribution

Blocking	<u>Bill Units</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Removal of Expiring Amortization Cos	12	\$2,145.95	\$25,751
kW: Period I Period II Period III Period IV	33,432.0 33,264.0 53,110.4 54,803.2	1.38 0.32 1.26 0.32	46,136 10,644 66,919 17,537
kWh: Period I Period II Period III Period IV	7,620,509 14,215,242 12,390,962 <u>22,827,778</u>	0.00190 0.00142 0.00190 0.00142	14,479 20,186 23,543 <u>32,415</u>
Total	57,054,491		\$257,611

Blockir	Ia	<u>Bill Units</u>	Proposed Distribution <u>Rates (1)</u>	Proposed Distribution <u>Revenue (1)</u>
Numbe	er of Bills	12	\$2,145.95	\$25,751
kW:	Period I Period II Period III Period IV	33,432 33,264 53,110 54,803	1.25 0.29 1.14 0.29	41,790 9,647 60,546 15,893
kWh:	Period I Period II Period III Period IV Total	7,620,509 14,215,242 12,390,962 <u>22,827,778</u> 57,054,491	0.00172 0.00129 0.00172 0.00129	13,107 18,338 21,312 <u>29,448</u> \$235,832

Rev Ratio 1.000000

Revenue Summary

	Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
Revenue at Current Rates Revenue at Proposed Rates Increase/(Decrease) Target Increase/(Decrease) Difference	\$257,611 <u>\$235,832</u> (\$21,779) <u>(\$21,990)</u> \$211	\$257,611 <u>\$235,832</u> (\$21,779) <u>(\$21,990)</u> \$211
Proposed Change (\$000s)	(\$21.8)	

Proof of Revenue

Service Classification No. 7 Space Heating

Blocking	<u>Bill Units</u>	Current Distribution <u>Rates (1)</u>	Current Distribution <u>Revenue (1)</u>
Remova Space Heating - Summer Space Heating - Winter	2,099,603 <u>2,997,870</u>	0.06024 0.03726	126,480 <u>111,701</u>
Total	5,097,473		\$238,181

Blocking	<u>Bill Units</u>	Proposed Distribution <u>Rates (1)</u>	Proposed Distribution <u>Revenue (1)</u>
Space Heating - Summer Space Heating - Winter	2,099,603 <u>2,997,870</u>	0.05510 0.03408	115,688 <u>102,167</u>
Total	5,097,473		\$217,856

Rev Ratio 0.999995

Revenue Summary

	Test Year Distribution Revenue	Distribution Revenue Based On Historic Billing Determinants
Revenue at Current Rates Revenue at Proposed Rates Increase/(Decrease Target Increase/(Decrease) Difference	\$238,182 <u>\$217,857</u> (\$20,325) <u>(\$20,331)</u> \$6	\$238,181 <u>\$217,856</u> (\$20,325) <u>(\$20,331)</u> \$6
Proposed Change (\$000s)	(\$20.3)	

Removal of Expired Amortization Costs - Base Rate Reset

Typical Bill Impacts for Rates Effective January 1, 2025

Monthly Billing Comparisons

SC Nos. 1 Residential

	Monthly Usage <u>(kWh)</u>	Bill at Present <u>Rates</u>	Bill at Proposed <u>Rates</u>	<u>Change</u> Amount	<u>Percent</u>
<u>Summer</u>					
	0	\$5.75	\$5.75	\$0.00	0.0
	50	13.54	13.26	(0.28)	(2.1)
	100	21.33	20.77	(0.56)	(2.6)
	200	36.92	35.79	(1.13)	(3.1)
	250	44.71	43.30	(1.41)	(3.2)
	300	52.50	50.81	(1.69)	(3.2)
	400	68.09	65.83	(2.26)	(3.3)
	500	83.67	80.84	(2.83)	(3.4)
	750	131.93	127.47	(4.46)	(3.4)
	1,000	186.40	180.16	(6.24)	(3.3)
	1,500	295.33	285.53	(9.80)	(3.3)
	2,000	404.26	390.90	(13.36)	(3.3)
<u>Winter</u>					
	0	\$5.75	\$5.75	\$0.00	0.0
	50	14.99	14.70	(0.29)	(1.9)
	100	24.22	23.66	(0.56)	(2.3)
	200	42.69	41.56	(1.13)	(2.6)
	250	51.93	50.52	(1.41)	(2.7)
	300	61.17	59.47	(1.70)	(2.8)
	400	79.64	77.38	(2.26)	(2.8)
	500	98.11	95.28	(2.83)	(2.9)
	750	144.29	140.05	(4.24)	(2.9)
	1,000	190.47	184.82	(5.65)	(3.0)
	1,500	282.83	274.35	(8.48)	(3.0)
	2,000	375.19	363.89	(11.30)	(3.0)

Monthly Billing Comparisons

SC2 General Service - Unmetered

	Monthly Usage <u>(kWh)</u>	Bill at Present <u>Rates</u>	Bill at Proposed <u>Rates</u>	<u>Change</u> Amount	<u>Percent</u>
Summer					
	0	\$14.00	\$14.00	\$0.00	0.0
	100	28.65	27.83	(0.82)	(2.9)
	200	43.29	41.65	(1.64)	(3.8)
	300	57.94	55.48	(2.46)	(4.2)
	400	72.59	69.30	(3.29)	(4.5)
	500	87.23	83.13	(4.10)	(4.7)
	750	123.85	117.69	(6.16)	(5.0)
	1,000	160.47	152.26	(8.21)	(5.1)
	1,250	197.09	186.82	(10.27)	(5.2)
	1,500	233.70	221.39	(12.31)	(5.3)
	1,750	270.32	255.95	(14.37)	(5.3)
	2,000	306.94	290.52	(16.42)	(5.3)
<u>Winter</u>					
	0	\$14.00	\$14.00	\$0.00	0.0
	50	20.77	20.40	(0.37)	(1.8)
	100	27.54	26.80	(0.74)	(2.7)
	200	41.08	39.60	(1.48)	(3.6)
	250	47.85	45.99	(1.86)	(3.9)
	300	54.62	52.39	(2.23)	(4.1)
	400	68.16	65.19	(2.97)	(4.4)
	500	81.70	77.99	(3.71)	(4.5)
	750	115.56	109.98	(5.58)	(4.8)
	1,000	149.41	141.98	(7.43)	(5.0)
	1,500	217.11	205.97	(11.14)	(5.1)
	2,000	284.82	269.96	(14.86)	(5.2)

Monthly Billing Comparisons

SC2 General Service - Non-Demand Metered

	Monthly Usage <u>(kWh)</u>	Bill at Present <u>Rates</u>	Bill at Proposed <u>Rates</u>	<u>Change</u> Amount	Percent
	(KVVII)	<u>Itales</u>	Males	Amount	<u>r ercent</u>
<u>Summer</u>					
	0	\$16.00	\$16.00	\$0.00	0.0
	100	30.65	29.83	(0.82)	(2.7)
	200	45.29	43.65	(1.64)	(3.6)
	300	59.94	57.48	(2.46)	(4.1)
	400	74.59	71.30	(3.29)	(4.4)
	500	89.23	85.13	(4.10)	(4.6)
	750	125.85	119.69	(6.16)	(4.9)
	1,000	162.47	154.26	(8.21)	(5.1)
	1,250	199.09	188.82	(10.27)	(5.2)
	1,500	235.70	223.39	(12.31)	(5.2)
	1,750	272.32	257.95	(14.37)	(5.3)
	2,000	308.94	292.52	(16.42)	(5.3)
<u>Winter</u>					
	0	\$16.00	\$16.00	\$0.00	0.0
	50	22.77	22.40	(0.37)	(1.6)
	100	29.54	28.80	(0.74)	(2.5)
	200	43.08	41.60	(1.48)	(3.4)
	250	49.85	47.99	(1.86)	(3.7)
	300	56.62	54.39	(2.23)	(3.9)
	400	70.16	67.19	(2.97)	(4.2)
	500	83.70	79.99	(3.71)	(4.4)
	750	117.56	111.98	(5.58)	(4.7)
	1,000	151.41	143.98	(7.43)	(4.9)
	1,500	219.11	207.97	(11.14)	(5.1)
	2,000	286.82	271.96	(14.86)	(5.2)

Monthly Billing Comparisons

SC2 General Secondary Service - Summer

D	Monthly	Bill at	Bill at		
Demand	Usage	Present	Proposed	Change	
<u>(kW)</u>	<u>(kWh)</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	<u>Percent</u>
7	700	\$178.35	\$172.10	(\$6.25)	(3.5)
7	1,400	259.50	251.22	(8.28)	(3.2)
7	2,100	340.66	330.35	(10.31)	(3.0)
7	2,800	421.82	409.48	(12.34)	(2.9)
	2,000	121.02	100.10	(12.01)	(2.0)
10	1,000	253.09	243.69	(9.40)	(3.7)
10	2,000	369.03	356.73	(12.30)	(3.3)
10	3,000	484.97	469.77	(15.20)	(3.1)
10	4,000	600.90	582.80	(18.10)	(3.0)
25	2,500	626.80	601.65	(25.15)	(4.0)
25	5,000	911.60	879.23	(32.37)	(3.6)
25	7,500	1,043.98	1,005.07	(38.91)	(3.7)
25	10,000	1,176.35	1,130.92	(45.43)	(3.9)
50	5,000	1,244.60	1,193.23	(51.37)	(4.1)
50	10,000	1,509.35	1,444.92	(64.43)	(4.3)
50	15,000	1,774.09	1,696.61	(77.48)	(4.4)
50	20,000	2,038.83	1,948.31	(90.52)	(4.4)
100	10,000	2,175.35	2,072.92	(102.43)	(4.7)
100	20,000	2,704.83	2,576.31	(128.52)	(4.8)
100	30,000	3,234.32	3,079.69	(154.63)	(4.8)
100	40,000	3,763.80	3,583.08	(180.72)	(4.8)
150	15,000	3,106.09	2,952.61	(153.48)	(4.9)
150	30,000	3,900.32	3,707.69	(192.63)	(4.9)
150	45,000	4,694.55	4,462.77	(231.78)	(4.9)
150	60,000	5,488.78	5,217.85	(270.93)	(4.9)

Monthly Billing Comparisons

SC2 General Secondary Service - Winter

	Monthly	Bill at	Bill at		
Demand	Usage	Present	Proposed	<u>Change</u>	<u>e</u>
<u>(kW)</u>	<u>(kWh)</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	<u>Percent</u>
-	700	#407 70	\$400.00		(0,0)
7	700	\$167.72	\$162.26	(\$5.46)	(3.3)
7	1,400	245.97	238.58	(7.39)	(3.0)
7	2,100	324.23	314.91	(9.32)	(2.9)
7	2,800	402.48	391.24	(11.24)	(2.8)
10	1,000	236.09	227.94	(8.15)	(3.5)
10	2,000	347.88	336.98	(10.90)	(3.1)
10	3,000	459.67	446.02	(13.65)	(3.0)
10	4,000	571.45	555.05	(16.40)	(2.9)
				(()
25	2,500	577.92	556.35	(21.57)	(3.7)
25	5,000	852.63	824.20	(28.43)	(3.3)
25	7,500	983.33	948.52	(34.81)	(3.5)
25	10,000	1,114.03	1,072.84	(41.19)	(3.7)
50	5,000	1,142.88	1,098.95	(43.93)	(3.8)
50	10,000	1,404.28	1,347.59	(56.69)	(4.0)
50	15,000	1,665.67	1,596.23	(69.44)	(4.2)
50	20,000	1,927.06	1,844.88	(82.18)	(4.3)
				<i>/</i> ·	<i></i>
100	10,000	1,984.78	1,897.09	(87.69)	(4.4)
100	20,000	2,507.56	2,394.38	(113.18)	(4.5)
100	30,000	3,030.35	2,891.66	(138.69)	(4.6)
100	40,000	3,553.13	3,388.95	(164.18)	(4.6)
150	15,000	2,826.67	2,695.23	(131.44)	(4.6)
150	30,000	3,610.85	3,441.16	(169.69)	(4.7)
150	45,000	4,395.03	4,187.09	(207.94)	(4.7)
150	60,000	5,179.21	4,933.02	(246.19)	(4.8)
	,	-,	.,	(=)	(

Monthly Billing Comparisons

SC2 General Primary Service - Summer

D	Monthly	Bill at	Bill at		
Demand	Usage	Present	Proposed	Change	
<u>(kW)</u>	<u>(kWh)</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	Percent
100	20,000	\$3,616.97	\$3,501.77	(\$115.20)	(3.2)
100	30,000	4,613.96	4,485.66	(128.30)	(2.8)
100	40,000	5,610.94	5,469.54	(141.40)	(2.5)
100	50,000	6,607.93	6,453.43	(154.50)	(2.3)
100	50,000	0,007.33	0,400.40	(134.30)	(2.0)
150	30,000	5,379.96	5,207.16	(172.80)	(3.2)
150	45,000	6,875.44	6,682.99	(192.45)	(2.8)
150	60,000	8,370.92	8,158.82	(212.10)	(2.5)
150	75,000	9,866.40	9,634.65	(231.75)	(2.3)
				. ,	. ,
200	40,000	7,142.94	6,912.54	(230.40)	(3.2)
200	60,000	9,136.92	8,880.32	(256.60)	(2.8)
200	80,000	11,130.89	10,848.09	(282.80)	(2.5)
200	100,000	13,124.86	12,815.86	(309.00)	(2.4)
				. ,	. ,
500	100,000	17,720.86	17,144.86	(576.00)	(3.3)
500	150,000	22,705.79	22,064.29	(641.50)	(2.8)
500	200,000	27,690.72	26,983.72	(707.00)	(2.6)
500	250,000	32,675.65	31,903.15	(772.50)	(2.4)
				. ,	. ,
750	150,000	26,535.79	25,671.79	(864.00)	(3.3)
750	225,000	34,013.19	33,050.94	(962.25)	(2.8)
750	300,000	41,490.58	40,430.08	(1,060.50)	(2.6)
750	375,000	48,967.98	47,809.23	(1,158.75)	(2.4)
				. ,	. ,
1000	200,000	35,350.72	34,198.72	(1,152.00)	(3.3)
1000	300,000	45,320.58	44,037.58	(1,283.00)	(2.8)
1000	400,000	55,290.44	53,876.44	(1,414.00)	(2.6)
1000	500,000	65,260.30	63,715.30	(1,545.00)	(2.4)
	•	•	•		、 /

Monthly Billing Comparisons

SC2 General Primary Service - Winter

	Monthly	Bill at	Bill at		
Demand	Usage	Present	Proposed	<u>Change</u>	
<u>(kW)</u>	<u>(kWh)</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	<u>Percent</u>
100	20,000	\$3,382.37	\$3,279.17	(\$103.20)	(2.1)
100	,			· · · ·	(3.1)
	30,000	4,353.76	4,237.46	(116.30)	(2.7)
100	40,000	5,325.14	5,195.74	(129.40)	(2.4)
100	50,000	6,296.53	6,154.03	(142.50)	(2.3)
150	30,000	5,026.76	4,871.96	(154.80)	(3.1)
150	45,000	6,483.84	6,309.39	(174.45)	(2.7)
150	60,000	7,940.92	7,746.82	(194.10)	(2.4)
150	75,000	9,398.00	9,184.25	(213.75)	(2.3)
	-,	-,	-,	(X - 7
200	40,000	6,671.14	6,464.74	(206.40)	(3.1)
200	60,000	8,613.92	8,381.32	(232.60)	(2.7)
200	80,000	10,556.69	10,297.89	(258.80)	(2.5)
200	100,000	12,499.46	12,214.46	(285.00)	(2.3)
500	100,000	16,537.46	16,021.46	(516.00)	(3.1)
500	150,000	21,394.39	20,812.89	(581.50)	(2.7)
500	200,000	26,251.32	25,604.32	(647.00)	(2.5)
500	250,000	31,108.25	30,395.75	(712.50)	(2.3)
750	150,000	24,759.39	23,985.39	(774.00)	(3.1)
750	225,000	32,044.79	31,172.54	(872.25)	(2.7)
750	300,000	39,330.18	38,359.68	(970.50)	(2.5)
750	375,000	46,615.58	45,546.83	(1,068.75)	(2.3)
1000	200,000	32,981.32	31,949.32	(1,032.00)	(3.1)
1000	300,000	42,695.18	41,532.18	(1,163.00)	(2.7)
1000	400,000	52,409.04	51,115.04	(1,294.00)	(2.5)
1000	500,000	62,122.90	60,697.90	(1,425.00)	(2.3)

Monthly Billing Comparisons

Service Classification No. 3

Summer Bill

	Perc		Bill at	Bill at		
Usage	Energy		Present	Proposed	<u>Char</u>	ge
<u>(kWh)</u>	<u>Peak</u>	<u>Off-Peak</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	Percent
050	200/	CO 1/	¢ 50.07	¢50.00	(\$4.40)	(0,0)
250	38%	62%	\$53.87	\$52.68	(\$1.19)	(2.2)
500	38%	62%	98.73	96.34	(2.39)	(2.4)
1,000	38%	62%	188.44	183.68	(4.76)	(2.5)
2,000	38%	62%	367.87	358.34	(9.53)	(2.6)
2 250	38%	62%	412.74	402.02	(10.72)	(2.6)
2,250					(10.72)	(2.6)
2,500	38%	62%	457.61	445.70	(11.91)	(2.6)
2,750	38%	62%	502.47	489.36	(13.11)	(2.6)
3,000	38%	62%	547.33	533.03	(14.30)	(2.6)
3,250	38%	62%	592.19	576.70	(15.49)	(2.6)
3,500	38%	62%	637.06	620.37	(16.69)	. ,
					· · · ·	(2.6)
3,750	38%	62%	681.92	664.04	(17.88)	(2.6)
4,000	38%	62%	726.79	707.71	(19.08)	(2.6)
4,250	38%	62%	771.63	751.36	(20.27)	(2.6)
4,500	38%	62%	816.50	795.05	(21.45)	(2.6)
4,750	38%	62%	861.35	838.70	(22.65)	(2.6)
5,000	38%	62%	906.23	882.39	(23.84)	· ,
5,000	30%	0270	900.23	002.39	(23.04)	(2.6)
5,250	38%	62%	951.09	926.06	(25.03)	(2.6)
5,500	38%	62%	995.94	969.71	(26.23)	(2.6)
5,750	38%	62%	1,040.80	1,013.39	(27.41)	(2.6)
6,000	38%	62%	1,085.66	1,057.06	(28.60)	(2.6)
0,000	0070	0270	1,000.00	1,007.00	(20.00)	(2.0)

Monthly Billing Comparisons

Service Classification No. 3

Winter Bill

	Perc		Bill at	Bill at		
Usage	Energy		Present	Proposed	<u>Char</u>	ige
<u>(kWh)</u>	<u>Peak</u>	<u>Off-Peak</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	<u>Percent</u>
250	38%	62%	\$48.57	\$47.46	(\$1.11)	(2.3)
500	38%	62%	88.14	85.92	(2.22)	(2.5)
1,000	38%	62%	167.29	162.83	(4.46)	(2.3)
					· · ·	. ,
2,000	38%	62%	325.55	316.63	(8.92)	(2.7)
2,250	38%	62%	365.12	355.09	(10.03)	(2.7)
2,500	38%	62%	404.71	393.57	(11.14)	(2.8)
2,750	38%	62%	444.28	432.02	(12.26)	(2.8)
3,000	38%	62%	483.85	470.47	(13.38)	(2.8)
-,					()	()
3,250	38%	62%	523.42	508.92	(14.50)	(2.8)
3,500	38%	62%	562.99	547.38	(15.61)	(2.8)
3,750	38%	62%	602.57	585.84	(16.73)	(2.8)
4,000	38%	62%	642.15	624.31	(17.84)	(2.8)
,					()	~ /
4,250	38%	62%	681.70	662.74	(18.96)	(2.8)
4,500	38%	62%	721.28	701.21	(20.07)	(2.8)
4,750	38%	62%	760.85	739.66	(21.19)	(2.8)
5,000	38%	62%	800.43	778.13	(22.30)	(2.8)
-,					()	(-)
5,250	38%	62%	840.00	816.59	(23.41)	(2.8)
5,500	38%	62%	879.55	855.02	(24.53)	(2.8)
5,750	38%	62%	919.14	893.49	(25.65)	(2.8)
6,000	38%	62%	958.70	931.94	(26.76)	(2.8)
-,	/-		•••••		(•)	(=-•)

Monthly Billing Comparisons

Service Classification No. 7 - Primary

Annual Bill

	Monthly	Perce	nt	Bill at	Bill at		
Demand	Usage	Energy \$	<u>Split</u>	Present	Proposed	<u>Change</u>	<u>.</u>
<u>(kW)</u>	<u>(kWh)</u>	<u>Peak</u>	<u> Off-Peak</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	Percent
1,000	300,000	35%	65%	\$509,998	\$498,819	(11,179)	(2.2)
1,000	300,000	50%	50%	512,401	501,011	(11,390)	(2.2)
1,000	400,000	35%	65%	600,654	587,930	(12,724)	(2.1)
1,000	400,000	50%	50%	603,858	590,854	(13,004)	(2.2)
2,000	600,000	35%	65%	1,016,397	994,038	(22,359)	(2.2)
2,000	600,000	50%	50%	1,021,203	998,423	(22,780)	(2.2)
2,000	800,000	35%	65%	1,197,707	1,172,261	(25,446)	(2.1)
2,000	800,000	50%	50%	1,204,115	1,178,107	(26,008)	(2.2)
3,000	900,000	35%	65%	1,522,795	1,489,257	(33,538)	(2.2)
3,000	900,000	50%	50%	1,530,004	1,495,834	(34,170)	(2.2)
3,000	1,200,000	35%	65%	1,794,761	1,756,591	(38,170)	(2.1)
3,000	1,200,000	50%	50%	1,804,373	1,765,361	(39,012)	(2.2)
4,000	1,200,000	35%	65%	2,029,194	1,984,476	(44,718)	(2.2)
4,000	1,200,000	50%	50%	2,038,806	1,993,246	(45,560)	(2.2)
4,000	1,600,000	35%	65%	2,391,814	2,340,922	(50,892)	(2.1)
4,000	1,600,000	50%	50%	2,404,630	2,352,614	(52,016)	(2.2)
5,000	1,500,000	35%	65%	2,535,592	2,479,695	(55,897)	(2.2)
5,000	1,500,000	50%	50%	2,547,607	2,490,657	(56,950)	(2.2)
5,000	2,000,000	35%	65%	2,988,868	2,925,252	(63,616)	(2.1)
5,000	2,000,000	50%	50%	3,004,888	2,939,868	(65,020)	(2.2)

Monthly Billing Comparisons

Service Classification No. 7 - Primary

Summer Bill

	Monthly	Perce	nt	Bill at	Bill at		
Demand	Usage	Energy	<u>Split</u>	Present	Proposed	<u>Change</u>	
<u>(kW)</u>	<u>(kWh)</u>	Peak	Off-Peak	<u>Rates</u>	Rates	Amount	Percent
1,000	300,000	35%	65%	\$44,639.80	\$43,674.85	(\$964.95)	(2.2)
1,000	300,000	50%	50%	44,840.05	43,857.55	(982.50)	(2.2)
1,000	400,000	35%	65%	52,194.40	51,100.80	(1,093.60)	(2.1)
1,000	400,000	50%	50%	52,461.40	51,344.40	(1,117.00)	(2.1)
2,000	600,000	35%	65%	88,979.60	87,049.70	(1,929.90)	(2.2)
2,000	600,000	50%	50%	89,380.10	87,415.10	(1,965.00)	(2.2)
2,000	800,000	35%	65%	104,088.80	101,901.60	(2,187.20)	(2.1)
2,000	800,000	50%	50%	104,622.80	102,388.80	(2,234.00)	(2.1)
3,000	900,000	35%	65%	133,319.40	130,424.55	(2,894.85)	(2.2)
3,000	900,000	50%	50%	133,920.15	130,972.65	(2,947.50)	(2.2)
3,000	1,200,000	35%	65%	155,983.20	152,702.40	(3,280.80)	(2.1)
3,000	1,200,000	50%	50%	156,784.20	153,433.20	(3,351.00)	(2.1)
4 9 9 9	4 000 000	0 = 0 (0.50/				
4,000	1,200,000	35%	65%	177,659.20	173,799.40	(3,859.80)	(2.2)
4,000	1,200,000	50%	50%	178,460.20	174,530.20	(3,930.00)	(2.2)
4,000	1,600,000	35%	65%	207,877.60	203,503.20	(4,374.40)	(2.1)
4,000	1,600,000	50%	50%	208,945.60	204,477.60	(4,468.00)	(2.1)
5,000	1,500,000	35%	65%	221,999.00	217,174.25	(4,824.75)	(2.2)
,				,		· · · /	(2.2)
5,000	1,500,000	50%	50%	223,000.25	218,087.75	(4,912.50)	(2.2)
5,000	2,000,000	35%	65%	259,772.00	254,304.00	(5,468.00)	(2.1)
5,000	2,000,000	50%	50%	261,107.00	255,522.00	(5,585.00)	(2.1)

Monthly Billing Comparisons Service Classification No. 7 - Primary

Winter Bill

_	Monthly	Perce		Bill at	Bill at		
Demand	Usage	Energy S		Present	Proposed	<u>Change</u>	<u>)</u>
<u>(kW)</u>	<u>(kWh)</u>	<u>Peak</u> (<u> Off-Peak</u>	<u>Rates</u>	<u>Rates</u>	<u>Amount</u>	Percent
1,000	300,000	35%	65%	\$41,429.90	\$40,514.95	(\$914.95)	(2.2)
1,000	300,000	50%	50%	41,630.15	40,697.65	(932.50)	(2.2)
1,000	400,000	35%	65%	48,984.50	47,940.90	(1,043.60)	(2.1)
1,000	400,000	50%	50%	49,251.50	48,184.50	(1,067.00)	(2.2)
2,000	600,000	35%	65%	82,559.80	80,729.90	(1,829.90)	(2.2)
2,000	600,000	50%	50%	82,960.30	81,095.30	(1,865.00)	(2.2)
2,000	800,000	35%	65%	97,669.00	95,581.80	(2,087.20)	(2.1)
2,000	800,000	50%	50%	98,203.00	96,069.00	(2,134.00)	(2.2)
3,000	900,000	35%	65%	123,689.70	120,944.85	(2,744.85)	(2.2)
3,000	900,000	50%	50%	124,290.45	121,492.95	(2,797.50)	(2.3)
3,000	1,200,000	35%	65%	146,353.50	143,222.70	(3,130.80)	(2.1)
3,000	1,200,000	50%	50%	147,154.50	143,953.50	(3,201.00)	(2.2)
4,000	1,200,000	35%	65%	164,819.60	161,159.80	(3,659.80)	(2.2)
4,000	1,200,000	50%	50%	165,620.60	161,890.60	(3,730.00)	(2.3)
4,000	1,600,000	35%	65%	195,038.00	190,863.60	(4,174.40)	(2.1)
4,000	1,600,000	50%	50%	196,106.00	191,838.00	(4,268.00)	(2.2)
5,000	1,500,000	35%	65%	205,949.50	201,374.75	(4,574.75)	(2.2)
5,000	1,500,000	50%	50%	206,950.75	202,288.25	(4,662.50)	(2.2)
5,000	2,000,000	35%	65%	243,722.50	238,504.50	(5,218.00)	(2.3)
5,000	2,000,000	50%	50%	245,722.50	239,722.50	(5,335.00)	(2.1)
5,000	2,000,000	5070	5070	2+3,037.30	200,122.00	(0,000,00)	(2.2)

Monthly Billing Comparisons

Service Classification No. 7 - High Voltage Distribution

Annual Bill

	Monthly	Perce	nt	Bill at	Bill at		
Demand	Usage	Energy \$	<u>Split</u>	Present	Proposed	Change	1
<u>(kW)</u>	<u>(kWh)</u>	Peak	Off-Peak	<u>Rates</u>	Rates	Amount	Percent
1,000	300,000	35%	65%	\$429,892	\$427,492	(2,400)	(0.6)
1,000	300,000	50%	50%	430,173	427,735	(2,438)	(0.6)
1,000	400,000	35%	65%	504,809	502,223	(2,586)	(0.5)
1,000	400,000	50%	50%	505,183	502,547	(2,636)	(0.5)
2 000	600.000	250/	650/	000 007	007 506	(4.004)	(0, 6)
2,000	600,000	35%	65%	832,327	827,526	(4,801)	(0.6)
2,000	600,000	50%	50%	832,888	828,012	(4,876)	(0.6)
2,000	800,000	35%	65%	982,160	976,989	(5,171)	(0.5)
2,000	800,000	50%	50%	982,909	977,637	(5,272)	(0.5)
3,000	900,000	35%	65%	1,234,761	1,227,561	(7,200)	(0.6)
3,000	900,000	50%	50%	1,235,604	1,228,290	(7,314)	(0.6)
3,000	1,200,000	35%	65%	1,459,511	1,451,754	(7,757)	(0.5)
3,000	1,200,000	50%	50%	1,460,634	1,452,726	(7,908)	(0.5)
		/					(2.2)
4,000	1,200,000	35%	65%	1,637,196	1,627,595	(9,601)	(0.6)
4,000	1,200,000	50%	50%	1,638,319	1,628,567	(9,752)	(0.6)
4,000	1,600,000	35%	65%	1,936,862	1,926,520	(10,342)	(0.5)
4,000	1,600,000	50%	50%	1,938,360	1,927,816	(10,544)	(0.5)
5,000	1,500,000	35%	65%	2,039,630	2,027,629	(12,001)	(0.6)
5,000	1,500,000	50%	50%	2,041,034	2,028,844	(12,190)	(0.6)
5,000	2,000,000	35%	50 % 65%	2,414,213	2,401,285	(12,190)	• •
							(0.5)
5,000	2,000,000	50%	50%	2,416,085	2,402,905	(13,180)	(0.5)

Monthly Billing Comparisons

Service Classification No. 7 - High Voltage Distribution

Summer Bill

	Monthly	Percer	nt	Bill at	Bill at		
Demand	Usage	Energy S	Split	Present	Proposed	Change	
<u>(kW)</u>	<u>(kWh)</u>	Peak (Off-Peak	<u>Rates</u>	Rates	Amount	Percent
1,000	300,000	35%	65%	\$37,744.27	\$37,530.92	(\$213.35)	(0.6)
1,000	300,000	50%	50%	37,767.67	37,551.17	(216.50)	(0.6)
1,000	400,000	35%	65%	43,987.32	43,758.52	(228.80)	(0.5)
1,000	400,000	50%	50%	44,018.52	43,785.52	(233.00)	(0.5)
2,000	600,000	35%	65%	73,200.42	72,773.72	(426.70)	(0.6)
2,000	600,000	50%	50%	73,247.22	72,814.22	(433.00)	(0.6)
2,000	800,000	35%	65%	85,686.52	85,228.92	(457.60)	(0.5)
2,000	800,000	50%	50%	85,748.92	85,282.92	(466.00)	(0.5)
3,000	900,000	35%	65%	108,656.57	108,016.52	(640.05)	(0.6)
3,000	900,000	50%	50%	108,726.77	108,077.27	(649.50)	(0.6)
3,000	1,200,000	35%	65%	127,385.72	126,699.32	(686.40)	(0.5)
3,000	1,200,000	50%	50%	127,479.32	126,780.32	(699.00)	(0.5)
4,000	1,200,000	35%	65%	144,112.72	143,259.32	(853.40)	(0.6)
4,000	1,200,000	50%	50%	144,206.32	143,340.32	(866.00)	(0.6)
4,000	1,600,000	35%	65%	169,084.92	168,169.72	(915.20)	(0.5)
4,000	1,600,000	50%	50%	169,209.72	168,277.72	(932.00)	(0.6)
5,000	1,500,000	35%	65%	179,568.87	178,502.12	(1,066.75)	(0.6)
5,000	1,500,000	50%	50%	179,685.87	178,603.37	(1,082.50)	(0.6)
5,000	2,000,000	35%	65%	210,784.12	209,640.12	(1,144.00)	(0.5)
5,000	2,000,000	50%	50%	210,940.12	209,775.12	(1,165.00)	(0.6)
				•	•		()

Monthly Billing Comparisons Service Classification No. 7 - High Voltage Distribution

Winter Bill

	Monthly	Percer	nt	Bill at	Bill at		
Demand	Usage	Energy S	Split	Present	Proposed	Change	
<u>(kW)</u>	<u>(kWh)</u>	Peak C	Off-Peak	<u>Rates</u>	Rates	Amount	Percent
1,000	300,000	35%	65%	\$34,864.37	\$34,671.02	(\$193.35)	(0.6)
1,000	300,000	50%	50%	34,887.77	34,691.27	(196.50)	(0.6)
1,000	400,000	35%	65%	41,107.42	40,898.62	(208.80)	(0.5)
1,000	400,000	50%	50%	41,138.62	40,925.62	(213.00)	(0.5)
0.000		050/	050/	07 440 00	07 050 00	(000 70)	(0,0)
2,000	600,000	35%	65%	67,440.62	67,053.92	(386.70)	(0.6)
2,000	600,000	50%	50%	67,487.42	67,094.42	(393.00)	(0.6)
2,000	800,000	35%	65%	79,926.72	79,509.12	(417.60)	(0.5)
2,000	800,000	50%	50%	79,989.12	79,563.12	(426.00)	(0.5)
						()	
3,000	900,000	35%	65%	100,016.87	99,436.82	(580.05)	(0.6)
3,000	900,000	50%	50%	100,087.07	99,497.57	(589.50)	(0.6)
3,000	1,200,000	35%	65%	118,746.02	118,119.62	(626.40)	(0.5)
3,000	1,200,000	50%	50%	118,839.62	118,200.62	(639.00)	(0.5)
4 000	1 200 000	35%	65%	122 502 12	121 010 70	(772.40)	(0,6)
4,000	1,200,000			132,593.12	131,819.72	(773.40)	(0.6)
4,000	1,200,000	50%	50%	132,686.72	131,900.72	(786.00)	(0.6)
4,000	1,600,000	35%	65%	157,565.32	156,730.12	(835.20)	(0.5)
4,000	1,600,000	50%	50%	157,690.12	156,838.12	(852.00)	(0.5)
5,000	1,500,000	35%	65%	165,169.37	164,202.62	(966.75)	(0.6)
5,000	1,500,000	50%	50%	165,286.37	164,303.87	(982.50)	(0.6)
5,000	2,000,000	35%	65%	196,384.62	195,340.62	(1,044.00)	(0.5)
5,000	2,000,000	50%	50%	196,540.62	195,475.62	(1,065.00)	(0.5)
5,000	2,000,000	50 /0	50 /0	190,040.02	190,470.02	(1,005.00)	(0.3)

Schedule RECO-3 Page 1 of 5

ROCKLAND ELECTRIC COMPANY

Removal of Expiring Amortization Costs - Base Rate Reset

Rates Effective January 1, 2025

Gross Up for Sales and Use Tax

	Proposed Distribution <u>Excl SUT</u> (a)	Proposed Distribution <u>SUT</u> (b = a * 6.625%) 6.625%	Proposed Distribution <u>Incl SUT</u> (c = a + b)
Service Classification No. 1 Customer Charge (\$/mo)	5.39	0.36	5.75
Energy:	5.55	0.50	5.75
First 600 kWh -S (\$/kWh)	0.05155	0.00342	0.05497
First 600 kWh -W (\$/kWh)	0.05155	0.00342	0.05497
Over 600 kWh -S (\$/kWh)	0.06491	0.00430	0.06921
Over 600 kWh -W (\$/kWh)	0.05155	0.00342	0.05497
Service Classification No. 1 TOD			
Customer Charge (\$/mo)	5.39	0.36	5.75
Energy:			
Peak -Summer	0.11933	0.00791	0.12724
Peak -Winter	0.09179	0.00608	0.09787
Off Peak - Summer	0.03602	0.00239	0.03841
Off Peak - Winter	0.03602	0.00239	0.03841
Service Classification No. 2 Sec Non Demand I	Billed - Unmete	red	
Customer Charge (\$/mo)	13.13	0.87	14.00
Energy:			
All kWh -S (\$/kWh)	0.03861	0.00256	0.04117
All kWh -W (\$/kWh)	0.03499	0.00232	0.03731
Service Classification No. 2 Secondary Non-de	mand Billed - N	letered	
Customer Charge (\$/mo)	15.01	0.99	16.00
Energy:			
All kWh -S (\$/kWh)	0.03861	0.00256	0.04117
All kWh -W (\$/kWh)	0.03499	0.00232	0.03731
Service Classification No. 2 Secondary			
Customer Charge (\$/mo) Secondary	22.51	1.49	24.00
Demand:	22.01		21.00
First 5 kW -S (\$/kW)	5.06	0.34	5.40
First 5 kW -W (\$/kW)	4.21	0.28	4.49
Over 5 kW -S (\$/kW)	6.93	0.46	7.39
Over 5 kW -W (\$/kW)	5.82	0.39	6.21
Energy:			
First 4,920 kWh -S (\$/kWh)	0.02674	0.00177	0.02851
First 4,920 kWh -W (\$/kWh)	0.02539	0.00168	0.02707
Second Block - Summer	0.02409	0.00160	0.02569
Second Block - Winter	0.02352	0.00156	0.02508
Service Classification No. 2 Space Heating			
Space Heat -S (\$/kWh)	0.05257	0.00348	0.05605
Space Heat -W (\$/kWh)	0.03156	0.00209	0.03365
	0.00100	0.00209	0.00000

	.00
Service Classification No. 2 Primary	.00
Customer Charge (\$/mo) 93.79 6.21 100 Demand: 100 100 100 100 100 100 <	
All kW -S (\$/kW) 8.68 0.58 9	.26
All kW -W (\$/kW) 7.42 0.49 7	.91
Energy:	
All kWh -S (\$/kWh) 0.01270 0.00084 0.013	
All kWh -W (\$/kWh) 0.01270 0.00084 0.013	354
Service Classification No. 3	
	.00
Energy:	.00
Peak -S (\$/kWh) 0.06986 0.00463 0.074	449
Peak -W (\$/kWh) 0.06267 0.00415 0.066	
Off Peak - Summer 0.02517 0.00167 0.026	
Off Peak - Winter 0.02517 0.00167 0.026	384
Service Classification No. 7	
Customer Charge (\$/mo) 281.36 18.64 300	00
Demand	
Period I (\$/kW) 4.72 0.31 5	.03
Period II (\$/kW) 1.16 0.08 1	.24
	.62
Period IV (\$/kW) 1.16 0.08 1	.24
Energy:	
Period I (\$/kWh) 0.01516 0.00100 0.016	316
Period II (\$/kWh) 0.01135 0.00075 0.012	
Period III (\$/kWh) 0.01516 0.00100 0.016	
Period IV (\$/kWh) 0.01135 0.00075 0.012	210

	Proposed Distribution <u>Excl SUT</u> (a)	Proposed Distribution <u>SUT</u> (b = a * 6.625%) 6.625%	Proposed Distribution <u>Incl SUT</u> (c = a + b)					
Service Classification No. 7 - High Voltage Distr Customer Charge (\$/mo)	ibution 2,145.95	142.17	2,288.12					
Demand Period I (\$/kW)	1.25	0.08	1.33					
Period II (\$/kW) Period III (\$/kW)	0.29 1.14	0.02 0.08	0.31 1.22					
Period IV (\$/kW) Energy:	0.29	0.02	0.31					
Period I (\$/kWh) Period II (\$/kWh)	0.00172 0.00129	0.00011 0.00009	0.00183 0.00138					
Period III (\$/kWh) Period IV (\$/kWh)	0.00172 0.00129	0.00011 0.00009	0.00183 0.00138					
	0.00129	0.00009	0.00138					
Service Classification No. 7 Space Heating Space Heat -S (\$/kWh)	0.05510	0.00365	0.05875					
Space Heat -W (\$/kWh)	0.03408	0.00226	0.03634					
Service Classification No. 4 (\$/luminaires/mo.)								
5800 SV	8.65	0.57	9.22					
9500 SV 16000 SV	9.39 11.42	0.62 0.76	10.01 12.18					
27500 SV	14.59	0.97	15.56					
46000 SV	23.66	1.57	25.23					
3000 LED	7.95	0.53	8.48					
3900 LED	7.79	0.52	8.31					
5000 LED	7.81	0.52	8.33					
7250 LED 12000 LED	8.15 9.16	0.54 0.61	8.69 9.77					
16000 LED	9.60	0.64	10.24					
22000 LED	14.07	0.93	15.00					
15500 LED	11.07	0.73	11.80					
27000 LED	14.11	0.93	15.04					
37500 LED	15.38	1.02	16.40					
1000 OBI	5.73	0.38	6.11					
4000 MV 7900 MV	7.76 9.14	0.51 0.61	8.27 9.75					
12000 MV	11.88	0.79	12.67					
22500 MV	15.08	1.00	16.08					
40000 MV	22.94	1.52	24.46					
59000 MV	28.98	1.92	30.90					
3400 IN	9.05	0.60	9.65					
5950 IN 8500 IN	9.22 10.42	0.61 0.69	9.83 11.11					
5890 LED	9.91	0.66	10.57					
9365 LED	12.17	0.81	12.98					
4000 MV - Post Top	11.80	0.78	12.58					
7900 MV - Post Top	14.45	0.96	15.41					
7900 MV - Post Top - Off Set 16000 SV - Post Top - Off Set	16.97 23.09	1.12 1.53	18.09 24.62					
	25.09	1.00	24.02					
15 Foot Brackets	0.54	0.04	0.58					
Undrg - Co. Owned	19.75	1.31	21.06					
Undrg - Cust. Owned	4.80	0.32	5.12					

	Proposed Distribution <u>Excl SUT</u> (a)	Proposed Distribution <u>SUT</u> (b = a * 6.625%) 6.625%	Proposed Distribution <u>Incl SUT</u> (c = a + b)
Service Classification No. 6 (\$/luminaires/mo.)			
5800 SV	6.27	0.42	6.69
9500 SV	7.54	0.50	8.04
16000 SV	8.09	0.54	8.63
3950 LED	7.33	0.49	7.82
5550 LED	7.44	0.49	7.93
7350 LED	7.51	0.50	8.01
5800 SV	8.73	0.58	9.31
9500 SV	9.58	0.63	10.21
16000 SV	11.77	0.78	12.55
27500 SV	15.09	1.00	16.09
46000 SV	24.91	1.65	26.56
3000 LED	7.95	0.53	8.48
3900 LED	7.79	0.52	8.31
5000 LED	7.81	0.52	8.33
7250 LED	8.15	0.52	8.69
12000 LED	9.16	0.61	9.77
			10.24
16000 LED	9.60	0.64	
22000 LED	14.07	0.93	15.00
46000 SV	24.91	1.65	26.56
15500 LED	11.07	0.73	11.80
27000 LED	14.11	0.93	15.04
37500 LED	15.38	1.02	16.40
4000 MV	9.73	0.64	10.37
7900 MV	11.25	0.75	12.00
22500 MV	17.95	1.19	19.14
16000 SVO	23.16	1.53	24.69
4000 MV	10.70	0.71	11.41
7900 MV	12.23	0.81	13.04
22500 MV	19.01	1.26	20.27
1000 INC	8.70	0.58	9.28
3400 IND	9.38	0.62	10.00
5950 IND	9.59	0.64	10.23
8500 IND	10.81	0.72	11.53
5890 LED	10.28	0.68	10.96
9365 LED	12.65	0.84	13.49
12000 MV	15.38	1.02	16.40
40000 MV	27.85	1.85	29.70
59000 MV	34.68	2.30	36.98
15 Foot Brackets	0.61	0.04	0.65
Service Classification No. 6 (Continued)	45.04	0.00	10.00
Customer Charge - Metered	15.01	0.99	16.00
Customer Charge - Unmetered	3.75	0.25	4.00
Energy (kWh) - Summer	0.05451	0.00361	0.05812
Energy (kWh) - Winter	0.05451	0.00361	0.05812

Removal of Expiring Amortization Costs - Base Rate Reset

Rates in Brief

Service Classification No. 1

		Present		Proposed	
		Summer	<u>Winter</u>	Summer	Winter
Customer Charge:	per month	\$5.75	\$5.75	\$5.75	\$5.75
Distribution Charges					
Distribution Charge:					
Non-Time of Day Service					
First 600 kWh	¢ per kWh	6.062	6.062	5.497	5.497
Over 600 kWh	¢ per kWh	7.633	6.062	6.921	5.497
Voluntary Time-of-Day Ser	vice				
Peak	¢ per kWh	14.032	10.794	12.724	9.787
Off Peak	¢ per kWh	4.235	4.235	3.841	3.841
Other Charges:		As Described in Tariff		As Described in Tariff	
Minimum Charge:					
Monthly	monthly	\$5.75		\$5.75	
Per Contract	per contract	\$34.50		\$34.50	

Secondary Demand Billed

-		Pre	sent	Proposed	
		<u>Summer</u>	<u>Winter</u>	<u>Summer</u>	Winter
Customer Charge:	per month	\$24.00	\$24.00	\$24.00	\$24.00
Distribution Charge:					
Demand Charge					
First 5 kW	per kW	\$5.94	\$4.95	\$5.40	\$4.49
Over 5 kW	per kW	8.15	6.83	7.39	6.21
Usage Charge					
First 4,920 kWh	¢ per kWh	3.141	2.982	2.851	2.707
Over 4,920 kWh	¢ per kWh	2.830	2.763	2.569	2.508
Other Charges:		As Described in Tariff		As Described in Tariff	
Minimum Charge:		•	s the demand arge	\$24.00 plus cha	s the demand rge

Service Classification No. 2 Secondary Non-Demand Billed

-			Present		Proposed	
		-	<u>Summer</u>	<u>Winter</u>	<u>Summer</u>	Winter
Customer Charge:	Metered Unmetered	per month per month	\$16.00 \$14.00	\$16.00 \$14.00	\$16.00 \$14.00	\$16.00 \$14.00
Distribution Charge:						
All kWh		¢ per kWh	4.938	4.474	4.117	3.731
Other Charges:			As Described	in Tariff	As Described	l in Tariff
Minimum Charge:						_
		Metered	\$16.00		\$16.0	
		Unmetered	\$14.00	J	\$14.0	U

Service Classification No. 2 Space Heating

		Pre	Present		osed
		Summer	<u>Winter</u>	<u>Summer</u>	Winter
Distribution Charge:					
Usage Charge All kWh	¢ per kWh	6.129	3.679	5.605	3.365
Other Charges:		As Described in Tariff		As Described in Tariff	

Service Classification No. 2 Primary

Primary					
•		Pre	esent	Prop	osed
		Summer	<u>Winter</u>	Summer	Winter
Customer Charge:	per month	\$100.00	\$100.00	\$100.00	\$100.00
Distribution Charge:					
Demand Charge All kW	per kW	\$10.15	\$8.68	\$9.26	\$7.91
Usage Charge All kWh	¢ per kWh	1.485	1.485	1.354	1.354
Other Charges:		As Describe	ed in Tariff	As Described in Tariff	
Minimum Charge:		•	us the demand arge		s the demand arge

			Present		Proposed	
			<u>Summer</u>	<u>Winter</u>	<u>Summer</u>	<u>Winter</u>
Customer	Charge:	per month	\$9.00	\$9.00	\$9.00	\$9.00
Distributio	n Charge:					
	All kWh, Monday to Friday, 10 A.M. to 10 P.M.	¢ per kWh	8.240	7.392	7.449	6.682
/	All Other kWh	¢ per kWh	2.968	2.968	2.684	2.684
Other Charges:		As Described in Tariff		As Described in Tariff		
Minimum (Charge:					
The Customer Charge, not less than		\$108.00 per c	ontract.	\$108.00 per	contract.	

Luminaries Charge, per month

uminaries Charge, per month			Present	Proposed
Nominal		Total	Distribution	Distribution
Lumens Luminaires Type	<u>Watts</u>	<u>Wattage</u>	<u>Charge</u>	<u>Charge</u>
Street Lighting Luminaires				
5,800 Sodium Vapor	70	108	\$10.09	\$9.22
9,500 Sodium Vapor	100	142	10.95	10.01
16,000 Sodium Vapor	150	199	13.32	12.18
27,500 Sodium Vapor	250	311	17.01	15.56
46,000 Sodium Vapor	400	488	27.58	25.23
3,000 LED	15-29	23	9.27	8.48
3,900 LED	30-39	35	9.08	8.31
3,901 LED	30-40	36	9.11	8.33
3,902 LED	30-41	37	9.50	8.69
3,903 LED	30-42	38	10.67	9.77
16,000 LED	130-169	140	11.20	10.24
22,000 LED	170-220	200	16.40	15.00
LED Flood Lighitng Luminaires				
15,500 LED	100-159	125	\$12.90	\$11.80
27,000 LED	160-249	205	16.45	15.04
37,500 LED	250-320	290	17.92	16.40
The following luminaires will no lo	onger be installe	ed. Charges a	ا re for existing luminaires c ا	only.
Street Lighting Luminaires				
1 000 Open Bettem Inc	02	02	¢6 67	¢G 11

1,000 Open Bottom Inc	92	92	\$6.67	\$6.11
4,000 Mercury Vapor	100	127	9.04	8.27
7,900 Mercury Vapor	175	211	10.65	9.75
12,000 Mercury Vapor	250	296	13.85	12.67
22,500 Mercury Vapor	400	459	17.58	16.08
40,000 Mercury Vapor	700	786	26.74	24.46
59,000 Mercury Vapor	1,000	1,105	33.79	30.90

Service Classification No. 4 (Contin	ued)			
			Present	Proposed
Nominal		Total	Distribution	Distribution
Lumens Luminaires Type	<u>Watts</u>	<u>Wattage</u>	<u>Charge</u>	Charge
The following luminaires will no longer	be install	ed. Charges	ا are for existing luminaire ا	es only.
Street Lighting Luminaires (Continued)	<u> </u>			
3,400 Induction	40	45	\$10.56	\$9.65
5,950 Induction	70	75	10.75	9.83
8,500 Induction	100	110	12.14	11.11
5,890 LED	70	74	11.56	10.57
9,365 LED	100	101	14.19	12.98
Post-Top Luminaires				
4,000 Mercury Vapor Off-Set	100	130	\$13.75	\$12.58
7,900 Mercury Vapor	175	215	16.85	15.41
7,900 Mercury Vapor – Off-Set	175	215	19.78	18.09
16,000 Sodium Vapor-Offset	150	199	26.92	24.62
Additional Charge: UG Svc- Company owned and maintai UG Svc- Customer owned and maintai 15 Foot Brackets			\$23.02 per mo. \$5.60 per mo. \$0.63 per mo.	\$21.06 per mo. \$5.12 per mo. \$0.58 per mo.
Other Charges:	As E	Described in	Tariff	As Described in Tariff

Luminaire Charges for Service Types A and B, monthly

Luminaire Charges for Service	I ypes A and	B, monthly		_
		—	Present	Proposed
Nominal		Total	Distribution	Distribution
<u>Lumens</u> <u>Luminaire Type</u>	<u>Watts</u>	<u>Wattage</u>	<u>Charge</u>	<u>Charge</u>
Power Bracket Luminaires				
5,800 Sodium Vapor	70	108	\$7.31	\$6.69
9,500 Sodium Vapor	100	142	8.79	8.04
16,000 Sodium Vapor	150	199	9.43	8.63
3,950 LED	25-39	35	8.54	7.82
5,550 LED	45-55	50	8.67	7.93
7,350 LED	56-70	65	8.75	8.01
5,800 Sodium Vapor	70	108	10.17	9.31
9,500 Sodium Vapor	100	142	11.16	10.21
16,000 Sodium Vapor	150	199	13.72	12.55
27,500 Sodium Vapor	250	311	17.59	16.09
46,000 Sodium Vapor	400	488	29.03	26.56
3,000 LED	15-29	23	9.27	8.48
3,900 LED	30-39	35	9.08	8.31
5,000 LED	40-59	50	9.11	8.33
7,250 LED	60-89	68	9.50	8.69
12,000 LED	90-129	103	10.67	9.77
16,000 LED	130-169	140	11.20	10.24
22,000 LED	170-220	200	16.40	15.00
Flood lighting Luminaires				
46,000 Sodium Vapor	400	488	\$29.03	\$26.56
15,500 LED	400 100-159	400 125	\$29.03 12.90	\$20.50 11.80
27,000 LED	160-159	205	16.45	15.04
			17.92	15.04 16.40
37,500 LED	250-320	290	17.92	10.40

Service Classification No. 6 (Continued)

Luminaire Charges for Service Types A and B, monthly

Luminaire Charges for Service Typ	bes A and	B, monthly	·	
			Present	Proposed
Nominal		Total	Distribution	Distribution
Lumens Luminaire Type	<u>Watts</u>	<u>Wattage</u>	Charge	<u>Charge</u>
The following luminaires will no lor	iger be in	stalled. Charg	es are for existing lum	inaires only.
, i i i i i i i i i i i i i i i i i i i	•	C	Ĵ.	
Power Bracket Luminaires				
4,000 Mercury Vapor	100	127	\$11.34	\$10.37
7,900 Mercury Vapor	175	215	13.11	12.00
22,500 Mercury Vapor	400	462	20.92	19.14
Post Top Luminaires				
			*	*• (• •
16,000 Sodium Vapor-Offset	150	199	\$27.00	\$24.69
Street Lighting Luminairee				
Street Lighting Luminaires				
4,000 Mercury Vapor	100	127	\$12.48	\$11.41
7,900 Mercury Vapor	175	211	14.26	13.04
22,500 Mercury Vapor	400	459	22.16	20.27
1,000 Incandescent	-	92	10.14	9.28
3,400 Induction	40	45	10.94	10.00
5,950 Induction	70	75	11.18	10.23
8,500 Induction	100	110	12.60	11.53
5,890 LED	70	74	11.98	10.96
9,365 LED	100	101	14.75	13.49
Flood lighting Luminaires				
12,000 Mercury Vapor	250	296	\$17.93	\$16.40
40,000 Mercury Vapor	700	786	32.47	29.70
59,000 Mercury Vapor	1,000	1,105	40.43	36.98
	.,000	1,100	10.10	00.00
			ļ	

Service Classification No. 6 (Continued)

Luminaire Charges for Service Types A and B, monthly

Charges for C	pervice Types		г b, monuny				
				Pro	esent	Pro	oposed
			Total		Distribution		Distribution
<u>uminaire Typ</u>	<u>ve V</u>	/atts	<u>Wattage</u>		<u>Charge</u>		<u>Charge</u>
kets				\$0.71	per month	\$0.65	per month
and Transm	ission Charge	s for S	Service Type	e C:			
Charge (Mete	red)			\$16.00	per month	\$16.00	per month
Charge (Unm	etered)			4.00	per month	4.00	per month
n Charge				6.444	¢ per kWh	5.812	¢ per kWh
s:		As D	escribed in	Tariff		As D	escribed in Tariff
<u>Charges:</u>							
	ribution and T	ransm	nission Char	ges as sp	pecified in		
ONTHLY, Pa	rt (1a) times t	welve					
Vetered	per month			\$16.00		\$16.00	
	minimum for	⁻ initia	l term	192.00		192.00	
Jnmetered	per month			4.00		4.00	
	minimum for	initia	l term	48.00		48.00	
	uminaire Typ tets and Transm Charge (Mete Charge (Unm Charge St <u>harges:</u> St monthly Dist ONTHLY, Pa	uminaire Type M uets and Transmission Charge and Transmission Charge Charge (Metered) Charge (Metered) Charge Charge (Unmetered) Charge S: S: monthly Distribution and T ONTHLY, Part (1a) times to Metered per month minimum for Jumetered	uminaire Type Watts sets and Transmission Charges for S Charge (Metered) Charge (Unmetered) Charge As D S: As D harges: As D Metered Distribution and Transmonthly Distribution and Transmonthly Distribution and Transmonthly, Part (1a) times twelve Metered per month minimum for initial Distribution and Transmonthly Distribution and D Transmonthly Distribution and D Transmonthly	uminaire Type Watts Wattage wets and Transmission Charges for Service Type Charge (Metered) Charge (Unmetered) Charge Charge s: As Described in harges: As Described in Control Charge Mattered per month minimum for initial term Mattered	Preduction Preduction Total Total numinaire Type Watts Wattage Sets \$0.71 and Transmission Charges for Service Type C: \$0.71 Charge (Metered) \$16.00 Charge (Unmetered) 4.00 Charge 6.444 s: As Described in Tariff harges: 3: monthly Distribution and Transmission Charges as sponthly. ONTHLY, Part (1a) times twelve. Metered per month \$16.00 minimum for initial term 192.00 Inmetered per month 4.00	Present Total Distribution uminaire Type Watts Wattage Charge atets \$0.71 per month and Transmission Charges for Service Type C: State \$16.00 per month Charge (Metered) \$16.00 per month Charge (Unmetered) 4.00 per month Charges: S: As Described in Tariff harges: S: monthly Distribution and Transmission Charges as specified in ONTHLY, Part (1a) times twelve. Metered per month \$16.00 minimum for initial term 192.00 Inmetered per month 4.00	PresentPresentPresentTotalDistributionuminaire TypeWattsWattageChargetets\$0.71 per month\$0.65and Transmission Charges for Service Type C:\$16.00 per month\$16.00Charge (Metered)\$16.00 per month\$16.00Charge (Unmetered)6.444 ¢ per kWh5.812s:As Described in TariffAs Dharges:\$:Metered in TariffAs DS:Metered\$16.00\$16.00harges:\$:\$16.00\$16.00Immothly Distribution and Transmission Charges as specified in ONTHLY, Part (1a) times twelve.\$16.00\$16.00Imminum for initial term192.00192.00192.00Inmeteredper month4.004.004.00

Primary and Space Heating

Primary and Space i	Heating			
	_		Present	Proposed
			Year-round	Year-round
Customer Charge:		per month	\$300.00	\$300.00
Distribution Charge:				
Demand Charg	2			
Period I	All kW @	per kW	\$5.51	\$5.03
Period II	-	per kW	1.35	1.24
Period III	All kW @	, per kW	5.05	4.62
Period IV	All kW @	per kW	1.35	1.24
Usage Charge				
Period I	All kWh @	¢ per kWh	1.770	1.616
Period II	All kWh @	¢ per kWh	1.325	1.210
Period III	All kWh @	¢ per kWh	1.770	1.616
Period IV	All kWh @	¢ per kWh	1.325	1.210
Space Heating				
Space Heating: Distribution Charge				
Summer	All kWh @	¢ per kWh	6.423	5.875
Winter	All kWh @	¢ per kWh	3.973	3.634
	Ŭ	/ I		

Other Charges:

As Described in Tariff

Definition of Rating Periods:

Period I -	10:00 a.m. to 10:00 p.m. prevailing time, Monday through Friday except holidays, June through September.
Period II -	10:00 p.m. to 10:00 a.m. prevailing time, Monday through Friday and all hours on Saturday, Sunday and holidays, June through September.
Period III -	10:00 a.m. to 10:00 p.m. prevailing time, Monday through Friday except holidays, October through May.
Period IV -	10:00 p.m. to 10:00 a.m. prevailing time, Monday through Friday, all hours on Saturday, Sunday and holidays, October through May.

Minimum Charge: The Customer Charge

** Average based on forecast of BGS Prices for 12 ME September 2021

High Voltage Distribution

0 0			Present	Proposed
			Year-round	Year-round
Customer Charge:		per month	\$2,288.12	\$2,288.12
Distribution Charge:				
Demand Charge)			
Period I	All kW @	per kW	\$1.47	\$1.33
Period II	All kW @	per kW	0.34	0.31
Period III	All kW @	per kW	1.34	1.22
Period IV	All kW @	per kW	0.34	0.31
Usage Charge				
Period I	All kWh @	¢ per kWh	0.203	0.183
Period II	All kWh @	¢ per kWh	0.151	0.138
Period III	All kWh @	¢ per kWh	0.203	0.183
Period IV	All kWh @	¢ per kWh	0.151	0.138

Other Charges:

As Described in Tariff

Definition	of Rating	Periods:
Dominion	orrading	r chicas.

Period I -	10:00 a.m. to 10:00 p.m. prevailing time, Monday through Friday except holidays, June	
	through September.	
Period II -	10:00 p.m. to 10:00 a.m. prevailing time, Monday through Friday and all hours on Saturday,	
	Sunday and holidays, June through September.	
Period III -	10:00 a.m. to 10:00 p.m. prevailing time, Monday through Friday except holidays, October	
	through May.	
Period IV -	10:00 p.m. to 10:00 a.m. prevailing time, Monday through Friday, all hours on Saturday,	
	Sunday and holidays, October through May.	
Definition of Rating Periods:		

Minimum Charge: The Customer Charge